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t.
’

ABSTRACT

This is a diagnostic program for testing the AND, TAD, andVOPERATE instructions of the

PCP—81 ONLY.

2. REQUIREMENTS

2.l Equipment

A PDP-SI equipped with Teletype.

2.2 g
,

Storage ,.

This program uses locations 0000—4354. The Binary Loader must be stored in the last memory

page.

2.3- Preliminary Programs

3 . LOADING PROCEDURE

3 .l Method

The standard Binary Loader is, used.

4. STARTING PROCEDURE

4.l Control Switch Settings

SR
2

7777

4 .2 Starting Address

(”44

4 .3 Operator Action

l . Set SR to 144 and press LOAD ADDRESS.

2. Set SRto 7777 and push START.

3 . Program Will halt l\.’l’A‘:lA'<J ,
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4. If AC% 0000 an error has occured.

5. Push CONTINUE. Program will run until stopped or until an error is encountered.

5. OPERATING PROCEDURE

Same as section 4.

o. ERRORS

6.1

A

Error Halts and Description

See listing.

6.2 Error Recovery

If it is desired to loop on the test causing the error, replace the operate instruction preceeding

the HLT with a JNP to the beginning of the test.

7. RESTRICTIONS

7.I Starting Restrictions (None)

7.2 Operating Restrictions (\ :j;

The interrupt is enabled during program operation. Any device, attached to" the machine,

which might cause spurious interrupts must be disabled.

8. MISCELLANEOUS

8.l EXecution Time

I3 program loops per second .

9. PROGRAM DESCRIPTION

The program consists of many individual tests. In most cases each test checks only one func—

tion and uses previously tested functions as a basis for the test. The program counter action is strictly

sequential except for SKIPS. The only JNP instructions used are at the end oi the program.

The sequence of testing. is as follows:

1. Test all operate functions individually except for rotates.

2 Test TAD instruction.

3. Test ROTATE functions.

4 -

Group I operate instruction test. All possible combinations. _

y

‘“""""""
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5. Group Zapperate instrUction test. All possible combinations.

6. Test AND instruction.

The Teletype bell rings after each 128 program loops.

10.
.

LISTING



@UUE

mwm1
mamz

wags

Méwé

MdMB

wflflé

Wfifl?

@61fl

maze

mag;

$722

wags

vuza

@025

$626

7:27

M053

9341

waéz

was:

muée

mesa

@déé

@057

ua4a

wo41
wgaz

wwas

$044

woqs

@046

”£47

mvng

weal

wubz

@093

@934

wabs
maas

@657

@959

E861

@762

@765

996%

Bflfifl

@909

fiflfll

QEWZ

$093

~QEBB

flflflfi

7692

7DUZ

flgflfl

WEZE

wane

BBQ;

wewz

QEMQ

9310

fiQZE

@846

@193
uzna

EQEB

1398

ZQBE

469%
7776

7775

7773

7767

7757

7737

7677

7577

7377

6777

5777

3777

7777

5252

2525

éfififi

7Zfl0

74@@

76@%

7746

776%

777%

7774

9393
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IINSTRUCTION YEST - 1

/TAPE 1

aw

HALY;

NQOPa

«2m

KMUWQ;

KWMfii:

Kfififlzg

Kflflfi§¢

Kiflfi'lgg

KWUZQ:

KEE4E;

Kélflgg
Kézfigg

KZ4UBp

Klfifigg

Kikfiflp

K4mvm,

K7776;

K7775;

K7773;

K7767,

K/757;

K7737,

K7677,
K7577,

K7577,

K6777,

K5777,

K5777;

K7777,

K5252;

K2525:
KOEWQ;

K7WEQ¢

K7$flgg

K7699;

K77QQ;

K776gg

K777Q9

K7774;

waMSg

w

JNP 1

UBUZ

mews

n

mwuw

HLT

N0?

w

ICUNSTANTS AND VARIABLES

mama

wwml

flBMZ

E954

wfilfi

Ufldfi

UWQQ

Mlfifl
UZUB

$409

lflflfl

zmwz

fiflvfl

7776

77/5

7773

/707

7737

7767

7677

7377

IJI7

67/7

9777

$777

7777

9252

£525

bflfifl

ffiwfl

lfiflfi

76w”

77§fi

776B

777%

7774

wwm&

‘ZpAch 1
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0%65

@966

09¢?

@973

@978“
9973
@Q71

@974

@975

@976

@5Q7

9967

9U17

90§7

@377

3&77
@377

$777

1777
77fifi

K$fi67g

K9967.

Kflfll70

K$fi§7c

K9677,

KU1770

K9377:
Kfl7773

Kl777a
K7739:

@907

00b?

”017

$957

@977

9177
$577

9777

1777
7799

7/17/68 538.36 9AGE 2
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0104 .144

lTADoCLAoHLTaTEST
0 90 05 START. TAD-K7777
0 09‘ 920 OLA
0106 7402' HLT IAC SHOULD’B

ISET SR 10 7777. CONTINUE

ISKIP TEST
0:07 7410 . 'SKP

0150 7002 . ML! ISKP FAILED
182A TEST 0

01:21,: 7200 cu
01:2; 7440 sgA .

»

0:230 7402 HLI
.

751A SHOULD HAVE SKIPPED
IAc SHOULD-EDUALHlERO

03:4 7450 SNA

01550 70:0
- SKP

.

0:56 7402 HLT ISNA SHOULD NOT HAVE SKIPPED
lac SHOULD EQUAL ZERO

-

ISEA TEST 2
’

0197' 7200 CLA

9169 1034 7A0 K4900

010;; 7440 3:5
0002 7410 SK?

0103 7602 HLT ISiA‘SHOULD NOT HAVE SKlPPED
lac SHOULD EQUAL 4000 -

0104 7450 SNA

0105 7402‘ HLT ISNA SHOULD HAVE SKIPPED
IAC SHOULD EQUAL 4000

_

ISZA TEST 0

0106 7200 OLA
0107 1033

'

TAD K2000
0170 7440 SEA

.0171 74;0 SK?

0172 7402 HLT . ISZA SHOULD NOT HAVE SKIPPED
IAC SHOULD EQUAL 2000

0173 7400 SNA

0174 7402 H T ISNA suou U HAVE SKIPPED
0175 7000 ~39 IAC SHOULb EQUAL 2000
0176 7000 NO?

0177 7000
‘

‘

'

NOP



@200

0201

UZEZ'
@293

9294

”205;

name

02“?

0319

02%:

9212

@215

$216-

9215.

@236
$2;7

MZZQ'

B221.
@222.

9223-
0224

$225

@326

mzz7‘
‘9259

$26;

”2&2

@233

@205

7290

1032

7440

7410
7402

7450

7‘92

729E

,1031"
7449

7419
7492

745%
7‘92

720%

135%

7445

7419
7&0?

7450

7&0?

729%

1527
7649

74;@
74%?

745E

7§E2

*ZUfl

/52A

152A

ISEA

/SEA

TEST a

CLA

TAU xxzun

32A

SK?
HLT

SNA

HLT

TEST 5

OLA
’

Tau Kgdflg

53‘

SK?

HLT

SN‘

HLT

TEST 6

CLA
TAU KEZQE

szn

SK?

HLT

SNA

HLT

TESTVI

GLA
TAU K9100

51A

SK?

HLT

SNA

HLT

7/17/68 538.42 PAGE 4

/82A SHOULD NOT HAVE SKIPPED
IAC SHOULD EQUAL 1995

ISNA SHOULU HAVE SKIPPEQ
[AC SHOULD EQUAL.1EBB@

xszazsuouLo ~07 HAVE-SKgPPED
'

IAC SHOULD EQUAL-$499

/SNA SHOULD HAVE SKIPPEQ
[AC SHOULD EQUAL 9490

xsza SHOULD NQT HAVE SKIPPEO
IAC SHOULD EQUAL @296

ISNA SHOULD HAV£ usPPED
IAC SHOULD EQUAL 9295

/52A SHOULD NOT HAVE SKIPPED

IAC SHOULD EQUAL @196

ISNA SHOULD HAVE SKIPPED
IAC SHOULD EQUAL giflfl
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ISEA TEST 5

eggs 7200 GLA_
9235 1fi26 TAD KBB‘HV
@259- 7440 sga .

fl ,.

$257 7917, SK!
'-

‘

9239. 7am: HLT ISEA $HOULD NOT HAVE SKIPPED

IAC SHOUL0.£OUAL aa¢a

9351: 7973 h

sua ].
@247. 7492, HLT ISNAVSHoU o HAVE SKIPPED

'

IAC SHOULB (DUAL 9943

[SEA TEST 9

weaaz 7277 OLA

azfia..1725: TAD K6829

9337; 7a49 53A ‘1

02%;: 7aas
‘

sxw- .

@237 74925 -HLT IsaA SHOULD NOT HAVE sxxpwto
» 1A0 SHOULD EQUAL 0825

@259 7459 an:

9751: 7492. . HLT

'

ISNA SHOULD HAVE sxzwpco
,

xac BMOULD EGUAL Baas

ISEA‘TEST 16

92:2: 7297 GLA

@253 13244 TAD K3610

922‘. 7645 82A

@255: 7&10 _

_

. 5K9,
-

9356 7472 "LT [SEA SHOULD No7 HAVE SKKPPED
‘

IAC SHOUL0_£BUAL 991a

9257 7656 SNA
_

9259 7a72
_

HLT ISNA SHOULD HAVE SKIPPED
IAC SHOULD EQUAL @919

[SEA TEST 11, f

CLAcaug; 7299
_ ‘

,

maaz 1923
_

~'

TAD Kaaua

@263. 7440-
"

'

sga

mans 7410 SKP
'

_

,

@295. 7492 HLT ISEA SHOULD NOT HAVE SKIPPED

IAC SHOULD EQUAL 90fl4

w2¢6 7450 SNA
-

"

D2b7 7&02
_

.

,
HLT '_ ISNA SHOULD HAVE SKIPPED»

~. .'
-

/AC SHOULD EQUAL mama



U270

93/1
0272

0273

$274

@275
@276

O27?

95OO

fiSOl
”5&3

O503

@394

QSOS

OSOQ

05%?

UJlO
@311

USLZ

w513

Uéxd

M515

@516

@617

@629

@521

U622

@523

7200

1022
74¢O

741%

7402

7450
7402

729%

1621

7649

7413
75%?

7&58

7&9?

72am

XOSO

7510
7692

7290

1034

7510

7419

7402

7200

1650
7§UO

7419

7402

ISEA

ISEA

ISPA

ISPA

ISMA

TEST l2

OLA

TAU K0992

StA

SKP

HLT

SNA

”LT

TEST L3

uLa
TAD K9691

sza

SKF

HLT

SNA

HLT

7531 1

OLA
TAU K3777
SPA

HLT

r531 z

CLA

7A0 K49UO

spa

SKP

HLT

TEST 1

QLA
TAU K3777

SMA

SKP

HLT

7/17/68 538.51 PAGE 6

ISZA SHOULD NOT HAVE SKIPPED

/AC SHOULD EQUAL,9992

/SNA SHOULD HAVE SKIPPED
/Ac SHOULD EQUAL @902

isaa SHOULD NOT Havg sxxppgp
IAC SHOULO EQUAL $aw1

stA SHOULQ HAVE sxgppaa
IAC §HGULO Efiufig aew1

ISPA SHOULD HAVE SKIPPED
/AC SHOULD EQUAL $777

ISPA SHOULD NOT HAVE SKIPPEO
IAC SHOULD EQUAL 4000

ISMA SHOULD NOT HAVE SKIPPED
IAC SHOULD EQUAL 3777



9324

9525

@525

9327

@533

9351

E33%
9331

9558

056!

9356
@éé?

5540

95d1:

9543
0353
9346

9345

U566

9347

9559

0591.
0392

9553

935‘

$355

0556

7290

1934

7595

7602

7293

1&51

73®5

TGQQ

7692

7295

15§3~
7B§$

7859

7492

10$!
75GB

7643

7‘92

729%

1092

7040

7459

7‘02

195?
7049

7440

7402

iSMA TEST 3

OLA
TAU

sna

HLT

ICHA TEST 1

lGNA»:

[GMA 9

OLA

TAD
CH‘

8g&
”LT

TAD
CLA

TAU
cna

gun

HL?

TAU

Cnh
Sin

“LT

IAU

GLA

TAD
CMA

SNA

HLT

YAD

UNA

52A
HLT

7/;7/68 588955 pang 7

Kflfiflfl

K7777

TiBT 1.

K2585i.

K2535

TEST 2

K5252

K5252

/SMA SHOULD HAVE SKfiPPED
IAC SHOULB EQUAL éflfifi

'IGHA 019 ND? CflfiflLEHEN? AG

[AG BHOULU EQUAL 059$

[TAD 0R CHA €RRQR
’IAC §HOULD €9U§L*52§2

ITAD OR CHI ERROR

V/Ac §HDULD EQUAL @696

ITAU OR GHA ERROR

IAC SHOULD EGUéL 2525

ITAD OR CMA ERRoR

IAC SHOULD EQUAL @699



$59?

@569

®$éi

@562
@563

mééé

Qééfi

$$¢6

fifiéi,

E$¥§

95?3
@372

$573

@3?6

@575

@575

B&??

fi4@fi

94$;
QQMZ

@QES

mama

@635

Eéflb

wag?

@319

Mal;
fifil?

QQXS

9414

72EE

1551
7EQE

?£49

7492

72@@

7%fi1

7fififi

?aga

7&9?

72$E

1fi§i

739a.

76$$

76$?

7%fifi

7flfifi

fiflfifi

72flfl

lfié3
7591

75fi1

7991

7flfl1

7439

7492

72$D

71@@

7396

743%

74W2

llAG

ISAG

aQfifl

ilAC

ffiig

w TAD TEST 3

CLA

TAD

EMA

52A

”LT

TEST 1

OLA
5A0

N

K?

”L?

TEST 8

. C A

1kg
RAG

Sifi

HLT

N09

N99

TBS? 5

OLA

TAD

1&0

1A9

lAG

IAC

yiA

En

TEST 1

OLA
C

Rkt
SéL

ML:

K7777

K7777

K7774

7/1?i68 5!8.59 FAGE 8

lTAD QR CMA ERROR

IAC SHOUkD EQUAL fififlfl

[RAG 910 NOT x~ca£M§~7
lac.smouu9 EDUL nag;

szc 010 N0? 3NcREHENT

Igc SHOULD EQUAL gnaw

llAC NOT XNCREMENTYNG
/AC SHOULD EQUAL @ng

/c £AR I x

GEEAR tImK SAFEYY

{52k SHOULD HAVE SKIPPED

ILINK SHOULD EQUAL EERO



0‘1!

wags
0417
0420

042!

0422.
0423

0424

9420:

0426

0427

0450

045x
0452

0453

0454

0455

0456

0457

0440

0441

7200

7100
7020

1034

7004

7430

7410
7402

7200

7100
7004

7420

7410
7402‘

7200

7100
7020

1054

7004

7420‘
7402

xszg TEST 2

CLA

0L0

CML

TAD

RAL

‘SZL
SKP

HLT

ISNL TEST 1

0L4

cu:
RAL

SN;

SKP

_ HLT

ISNL TEST 2

CLA

CLL

CML

TAD
HAL

SNL
HLT

K4000

K4000

7/17/68 5:9,: PAGE 9

’IGLEAR LINK
ICOMPLEMENT LxNK

ISET LINK SAFETY

ISEL SHOULD NOT HAVE SKIPPED
ILINK SHOULD EQUAL ONE

SAFETY

ISNL SHOULD NOT HAVE SKIPPED

ILINK SHOULD EQUAL-EERO-

ICLEAR LINK
IGOMPLEHENT LINK

/SET LINK SAFETY

ISNL SHOULD HAVE SKIPPEo
lLINK SHOULD EDUAL ONE



0442

@‘GS

@646

9‘49:

@546

@447

E4§B

Efifit

9552
@9631

fififit

9459i

$496

0&5?

9563

@561;
95¢?

9463

fifiéfl

@‘éi

Eaéé

was?

@4?9

9&71
@472

$473

9474

”475

@476

U477

name

man;

7209

lflSd

7304

742%

5353:

7&D9
7459
7‘92

5257
7633

7423
7432

5247

719$
765$

7492

7529
752%

7692
7Q?@
7535

74E2

7290

lflfii
7599

7449

74”?

729%

7496

79fifl

764E

76$2

7/17/63 519.6 PAGE 10

ICLL TEST 1

OLA
TAU K4639

RAL: ISET LINK
SNu

JHP.CLL11 ICANNOT BET LXNK HITH HAL
ITRY A CHL

GLL&a CLL:
83L:

HLy IGLL 010 No CLEAR.L1NK
ILINK SHOULB EDUAL ONE

JHP,.¢§Z .

-

CLL11; GHL: ISET.L1NK
5NL:

'

HLY ICANNOT'IET LINK-HITH
'

IRAL OR CHL. CANNOT

IPERFORM CLL TEST 1

JHP CLLE.

IGML;YE§? 1‘

CNLTla GLLa
sag: .

HL? ICLL DID NOT CLEAR LINK
GNU
SNLé

.

HLT ICNL DID NOT SET LINK
CHL

52L

HLT ICHL DID NOT RESET LINK
ICLA TEST L-(OPERATE GROUP 2)

c A

qu K7777

lave

52A

HLT IGLA (760%) 0:0 NOT CLEAR AC

/AC SHOULD EauAL @995

105R TEST 1

CLA

uSR‘
CMA

SEA

HLT 105R DID NOT SET AC TO 7777

/AC SHOULD‘E
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INOP TEST 1 (OPERATE GROUP 1)

0502' 7290 CLA
0505~ 7100 CLL) [AC AND LINK EQUAL BERG

0304 7009 7930 [TEST INSTRUCTION
$505: 7450 ENA

@906 7455 5EL

”SD? 7402 . HLT INOP FAILURE
(AC AND LINK SHOULD BE EERO

INOP TEST 3 (OPERATE GROUP 2)

0910 7200 OLA
.

'

052%: 7100 OLLa IAC AND LINK En AL iERO

0512; 7400 7400 ITESY INSTRUCT! N

051; 7450 DNA .

0914: 7400 SEL

0535: 7402' HLT
.

INOP FAILURE
'

[AC AND LINK SHOULD SERIERO
'

ITAD~T£ST 1

0516~ 7200 OLA
0917 1000 TAD K0777 , IOPERAND 1

0520. 1004 TAD K4000 [OPERAND 2

@521: 7060 CHA

0522 7040 50A

0923' 7402. _ HLT [TAD ERROR
/AC SHOULD EQUAL 0000

ITAO TEST 2

0020. 7200 CLA
0525- x047 TAO K5777 IOPERAND 1

0526 3033 TAD K2000 IOPERAND 2

0:07 7040 on:

0:00 7040 31:

0:01. 7402 HLT ITAU ERROR

IAC SHOULD EDUAL 0900

ITAU TEST 0
.

0:02 7200 OLA
0503 1040

~ IAU 6777 [OPERAND 1

0904 1032 TAU §;000 lopERAND 2

0555 7040 CHA

0:55 7440 52A

0257 7402 HLT ITAU ERRUR_
, 70c SHOULD EDUAL 0000

_

/TAD TEST 4

0:40 7200 OLA

0041 1045 TAU K7377 IOPERAND 1

0042 1031 TAU «0400 [OPERAND 2

0503 7000
-

CMA

0544 7040 52A
0945 7402 HLT ,TAD ERROR

IAC SHOULD EQUAL 0000

/TAU TEST 5

0:05 7200 O A

0347 1044 Thu K7577 IOPERAND 1



U559

myszg
0392

@551

1030

7949

7440

7‘92

TAU KEZU

CM!

SEA

HLT

7/17/68 5!9.17 PAGE 1111

IOPERAND 2

ITAD ERROR
lAC SHOULD EQUAL azaa
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\

{TAU TEST 0

0050 7200 CLA

0555 1040 TAD K7677 IOPERAND 1

00950 1027 1A0 K0100 IOPERAND 2

0557 7040
'

GMA

0000 7440 530
'

‘ 0’61. 7‘02 HLT ITAD.ERROR
-

.

“

IAC SHOULD EQUAL 0000

_

ITAD TEST 7

0062 7200
,

OLA

0503 1042'
’

TAD K7757 IoRERANo 1

0504 1026 TAD K0040 IORERANo'z

0565: 7040 CMA
.

.

0905. 7040 82A
.

0507 7402; HLT ITAD ERROR

.

IAC SHOULD-EQUAL 0000

ITAD TEST 0

0970 7200 0L0.

0571: 1041- TAD 7757 loPERAND 1

0072. 1025' .rao R0020 lopERAND 2

0973 7040 UNA

0970« 7440 520

0:75» 7402 HLT ITAD ERRQR

IAC SHOULD EOU‘L 0000

0070 7000 N0?

0577 7000 NO?

@600 ‘000

xrAu TEST 9
'

0600 7200 OLA

000;, 1040 TAU K7707 IOPERANQ 1

0002 1024 TAD K6519 {OPERAND 2

0003 7040 UNA

0004 7440 SSA

0005 7402 HLT ITAD ERROR

IAC SHOULD EQUAL Eflflfl



flfifié

9597

wbga

0&1;
9912

@613

991‘
wagg;
QQQE'
96%?

@éfifi

Ebgg:

wagz:
96233

953$:

9635:

@626

@627

9566

@551"
@653

9553‘
”6&4-

fléé5

fibéé‘

720%

1057

1623
70Gfl

766%

7492’

72E9
1536

$622
70€Q

7640

7492

729%

1055

.1923

7040

7646

76%?

7296

71$E

1656

ifiéd

763$
75%9

7éfl2

ITAD TEST ;w

CLA
TAD K7773

TAD Kflflfld

CHA

53A

~er

ITAD TEST :1

OLA.

TAD K7775

TAD K9002

CHa

SEA

”LT
ITAD TEST :2

GL5
TAD K7776

TAD K666:

GMA

SEA

HLT

ITAD TEST 1a

CLA

GkL

TAU K4990

TAD Kéflfifl

52L

SEA

”L?

7/17/68 559,22 PAGE 13

/OPERAND 1

IOPERAND 2

ITAO.ERROR

IAC SHOULD EQUAL-@580

IOPERAND 1

(OPERAND 2

ITAU ERROR

lOPERANDW1
IOPERAND 2

ITAO.ERROR
IAC-EHOULD EDUAL flflfifl

IOPERAND 1

[OPERAND 2

ITAD ERROR. AC SHOUkD EQUAL @300

ILINK SHOULD BE EQUAL ONE.



0657

0040

066:;

060;
0633

0b4t

0665

0656

0637‘

0000

0001;
0652
0653*

065‘-

0055

0556a

0607
0660

0661

0062:
0663

0666

0665

0666

0667

0670

0571
0672

0073

0674

0675

0676

0677

0700

0701,

~0702

0705

7200

7100
1054

1653
7430

7440

7402

7200

7:00

1055:
1032

7430

7400

760?

7200

7100

1056
$031

7430

7440

7602

7200

7100

1057
1030

7430

7640

7402

7200
7100

1076

1027
'7630

7449
7402

7200

7100

ITAU

ITAD

[TAO

/TAU

ITAD

ITAU

TEST :4

CLA
cLL
TAO K6000

TAU K2500

52L

5;:
HLT

TEST 15,

CL!

ELL;
TAD-K7000

TAD K1000

51%
SEA

HLT

TEST 10

CLA.
CLLé
TAU K7400
TAU K0400

Sip

SEA

HLT

TEST 17

CLA

CLL
TAD K7600
TAU K0200

SZL

SiA

HLT

TEST 8

cLi
ULL
TAU K7700

TAU K0100
SZL
52A

HLI

TEST 19

ULA

CLL

7/17/68 589.25 PAGE 1‘

IOPERAND 1

IOPERAND 2

[TAD enaon. .c suouLo EQUAL
ILINK SHOULD EQUAL ONE-

IOPERAND.1.
[OPERAND 2

ITAD ERROR. Ac SHOULD EQUAL
[LINK SHOULD CDUIL ONE

IOPERAND_1.
[ORERAND 2

ITAU ERROR. AC SHOULD EQUAL
/L!NK SHOULD EOU‘L ONE

/OPERAND 1

IOPERAND 2*

ITAD ERROR. AC SHOULD EQUAL

ILINK SHOULD EQUAL ONE

IOPERAND 1

IOPERAND 2

ITAD ERROR. AC SHOULD EQUAL
ILINK SHOULD EQU‘L ONE

0000



7/17/68 589.39 PAGE 15

$704 1060 TAD K7749 -

/0PERAND 1
0795 1926 TAU K0045 /OPERAND 2

9706 7‘50 SZL
U7U7 7440 SiA

”’1” 7402 HLT ITAD ERROR: AC SHOULD EQUAL 600E

.
.

ILXNK SHDuLD EQUAL ONE

vau resr an»
wr; 72am CLA

@71 71mm cg;

$713 1951 TAD K776fl loPERAND 1

6716 a925 TAD Kazan [OPERANO 2

a715 7:39 52L: .

0716 744a sea
4

9717 .74e2 HLT /TAU ERROR. Ac snouLn EQUAL name

,

lLENK SHOULB EQUAL ONE

ITAU TEST 81

@72fi 7200
-

GLA
@721: 71fl0 ELL.
are? 1662' YAU K7779 ‘IOPERAND 1
$723 1324 TAU K9915 IOPERAND 2

@734 7459 82;
m72§: 7&40 82A /TAD.£RROR AC SHOULD EQUAL gage

9725 7432 HLT
‘

/LINK SHOULD EQUAL ONE

ITAD TEST 22

@127 729g OLA
wiéz 7199 ELL

6751 1603 TAU K7774 IDPERANQ 1.
9752 1023 YAD Kfiflflé IOPERAND 2

@753 7659 55L
$754 7449 52A

9735 7402 HLT ITAU.ERR0R Ag SHQULD EQUAL 99mg

/L!NK swouio EQUAL DNE
ITAD TEST as

0766 7299 CLA
@257 7192 cLL:
@740 1955. TAU K7776 xoPgRANo 1

w741 1a22
'

TAU Keaaz IQPERAND 2

@742 7450 52L

axes 7449 SEA

@744 74m2 Hg? /TAQ ERROR. Ac SHOULD EQUAL swam

[LINK SHOULD EQUAL ONE



7/17/68 539,35 PAGE 16

ITAD TEST 24

@745: 7200 CLA

0746- 710% CLL
‘

9747' lfifil TAD K7777 IOPERAND 1

0759 1fi21' TAO K0901 IOPERAND 2

$751: 7650
'

SEL

@752‘ 7440 " SiA _

@753 7692 “LT ITAD ERROR AC SHOULD EQU‘L BESS

ILINK snoufio EQUAL ONE

lTAD-TEST as

@756- 729% GLA
@7fifi: 719E GLL

975$ 732$ GHL
97%? L354 YAD Kéfififi

'

IOPERANO,1
E7éfi' 1fl34

'

TAD KQBEE lOPERAND 2

@751; 7529 SNL
97¢? 7446 5%!

Q76§~ 7492. ”LT /TAD fiRRDRg AC SHOULO EQUAL $953

ILINK SHOULD EQUfiL §ERD

ITAQ TEST 36

fi7¢4~ 7299 CL‘
@765; 719% CLL=
$766 1359 TAD K5777 IOPERAND.1
97¢7 1533 van Kaaau IOPERAND 2

677% 1533 TAO K2095 [OPERAND 3

@771. 799% CH!

772 742 SNL=
773 744 SiA -

077a 7492 HLT [TAU ERRDRa Ac SHOULD EQUAL Bfififi

/L!NK SHOULD EQUAL BERG

@775‘ 7903 N0?
$776 7009 MOP

@777 700% N0?

lawn “1969
'

ITAD TEST Z7

1%fl0 72U0 GLA

lwul. 71” CLL

lama L34 TAU K5777 /0P£RAND 1

$903 1032 TAD K1000 xopinano 2

109$ 1%32 TAU K1090 IOPERAND 3

1905. 7049
h

_
UNA

'

$9064 7ag0 _
.

. SNL

A097 76§B
_, _‘ . SEA ITAD ERROR AC SHOULD EQUAL ”303

1010 7402
‘

HLT ILINK SHOULD EQUAL ZERO



1911

1w12

1913

1014

1615

1016

1gx7
imam

awe;

1&2?

1&23

3%34
3925
lEZb

$927
1 5

.1355
10$?

1&53
1&56

1fl6§

1966

1967

1960

1W4:
1942

1fl43

1W44
'

1945

lm¢6

1047

lubz

19:1

1052
1093

1096

729%

7109

1946

1351

1531
7546

763

7d4

7‘92

?29E

?i9fi

lfififi
1933

165%
7Efi§

752
7&4

7492

729a

71wa

lfiéé

1927
$927
7342

7429

7449

74$2

72Mfi

71E0

1043

1526

1026

7043

742%

744%

74w2

ITAU TEST £8

uga

CLk

TAU

TAU

TAU

EMA

$Ng
gig

NET

lTkQ TfiST 29

CL&

Qkk

TAD

TAD

7&0

GHQ

SNL
Sid

HL?

/TAU VEST 5%

CLA

CLL
TAU

TAU

TAO

EMA

SNL

SZA

HLT

/TAD TEST #1

OLA

U

rkb
TAU

TAU

UNA

SNL
SEA

”LT

K6777

K9499

Kgéflfl

K737?
KQEQE

KQEQE

K7577

Kflififl

Kflififl

K7677

K994fl

K$04fl

7/17i68 539,49 §AG£ 1?

IQPERANB 1
IGPERAND 2

IOPERAND 3

iTAD Eaasae AG SHOULD EQUAL gage

ILINK swouao EQUAL EERQ

[OPERAND 1

iQQER&ND 3

{OPERANG 3

iTAQ ERROR: AC SOULD EQU&Q fifififl

ikiNK SHGULQ EQUAL EERO

IDPERANQ 1

[OPERAND 2

IOPERAND 3

fTAQ ERRDR: AC SHOUkD EQUAL GQEQ

ILINK SHOULD EQUAL ZERO

IOPERAND 1

IOPERAND 2

IOPERAND 3

/TAU ERROR. AC SHOULD EQUAL flfififl

/LINK SHOULD EQUAL ZERO



7/17/68 519.44 PAGE 18

ITAU TEST 62

1055 7200
'

CLA

1035 71mm 1 ELL
;037 1042 TAU K7737 IOPERANO 1

1060 1a25 TAU Kazan IOPERAND 2

guoz. 1525 TAD KEQZE [OPERAND 3

1062 7640 UNA

1 63 752 SNL

1364 74a Sin

1365» 7‘92 HLT ITAQ ERROR, Ac sHOULD EQUAL @969

ILINK SHOULD EQUAU ZERO

lTAD TEST #3
'

lflbb 7290 OLA

1067 7190 OLL.

;979 1081, TAO K7757 iOPERANQ 1

1371‘ lflgfi- TAD Kfifilfl IOPERAND a

:972 1924 TAD «gala
'

IOPERAND a

1973, 7045 DNA

1574 742 SNL.

3975, 744 szn .

1676 7492 HLT ITAQ ERROR. AC SHOULD EQUAL 9636

[LINK SHOULD EQUAL ZERO

/TAU TEST $4

1977 7200 OLA
1193 7106 CLL

llfili 1946 TAU K7767 [OPERAND ;

11%? ,1323 TAU KBEUA IOPERAND 2

1193 1023 TAU K0664 IOPERAND 3
1194 7040 CMA

‘

11 5 742
'

SNL

11 6 744 SEA
*

11D7 7‘92 HLT ITAD ERROR. AC SHOULD EQUAL 290$

ILINK SHOULD EQUAL ZERO
.

,,

.

ITAU TEsI a5 ,

>

1110 720a GLA
1111 71%0

'

CLL
1112 1557 TAD K7773 /0PERAND 1
1113 1022 TAU K96”? IOPERAND 2

1114 1D22 ‘TAU K0002 [OPERAND 3

1115 17040 EMA

1116 742 SNk
1117 744 52A

112% 7402 HLT /TAU ERROR. AC SHOULD EQUAL EBB”

ILINK SHOULD EQUAL zzao



1123

1122

$325
1$2é

3325
1126

112?.

1156

i$511

;;$a

$l$3

133$-
323.»;5:

li$6

3&5?

glflfi

1$§3

éiflg
11£3

lififi

llfifi

giaa
1197

1359

11:;

;1a2

$123

72@@

7%Qfi
1936

$621

lfigi
79%@

742%

7&59

?$§2

VEQE

7199

$931

7E$Q
?$8@

75%?

?2@@

71%6
1520

7E18
7é$fl

76$?

72Q$

71$E

1529

7510

7430

7&9?

ITAD TEST 56

OLA

ELL

TAU

YAQ

TAU

CMfl

SNL

SEL

PgLT

IRAQ TEST 3

CLA

CLL
7&0

Ran

5N

”L

-/RAR TEST 3

GL&
ELL
TAQ

RAR

'53;

HLT

lHAR TESY é

Cga
C

ykb
RAR

SEL

HLT

K7775

K6981

Kfiafli

K3391

KEQEE

Kflflflfl

7/17/68 589,49
'

PAGE 19

IQPERANQ ;

IOPERAND 2

IOPERAND s

,YAQ ERROR. Ac SHOULD EQUAL mama

zgzmx swaugg EQuAL azna

iRD?ATE F£?TERN

IRAQ FAIkiDa LXNK DRGPPED A 8!?

ILlNK SHOULD EQUAL A QNE

IR07A?E P£VTERN

IRAR razLEo. AC PICKED UP A EXT
IA ONE 3N Ac EDUALS 7H5 chxao up 837

IROTATE PAYTERN

/RAL FAILED. LiNK PECKED UP A BIT
ILKNK SHOULD EQUAL EERO



1194

1195
1196

1157

1160
1161.

1161

11¢!
1164
1165:
llbl
1167i

1179
1171i
1173.

'1173\
1174’

1175;
1176

.1177

1ZUB

1291

1292
1203

1204

1265

1296

1207
1219

1211

1212

1313
1216

1215

1216

1217

1223

1221

1222

7200

7100

7920

1020

7fl10
7‘30

7402

7290

7190
7320

15§1.
7510'
7040

7440

7492

7509

7Bfl0

7539

7009

7990

1206

7203

7109

7620

1026

7313
lflfifl

7049

7‘53

743%
74%?

7200

719%

1034

7019

1047

7040

7450

7466

7402

/RAR TEST 4

CLA

CLL

CHL

TAU

RAH
.

52L

K8030

HLT‘

IRAR TEST 9

CLA

CLU

CHM
TAD K7777

nan

~cm
SEA

HLT

N0?

N0?

N0?

N0?

N0?

“1299

IRAR TEST o

CLA

”CLL

CML
TAU

RAR

TAU

UNA

SNA

SZL

HLT

lRAR TEST 7

CLA

CLL

TAU
RAH

TAU

CMA

SNA

52L

HLT

Kflflfifl

K3777

K4309

K5777

7/17/68 539.53
_

PAGE 22

IROTATE PATTERN

IRAR LINK chxzo UP A ext
ILINK SHOULD EQUAL iERO

IROTATE PATTERN

IRAR FAILED ACrDROPPED A BIT

IA ONE.1N AC EQUALS THE DROPPED BIT

lROTATE PATTERN

IRAR FAILED AC AND LINK

ISHQULD EQUAL mama

IROTATE PATTERN

IRAR FAILED AC AND LINK SHOULD

/EOUAL @flfifl



$223

1224

;225
1226

3227

1240

1251'

1202

$233

.3254.

1255
$236

1267
3240
1340
32327

,1235

3244

1245

;2ae

1247
129a

1251
g???

$255

1258

1255

7200

7100

1053

7010
1046

7040

7450

7450

7402

7200

7100

1052

7010
1065
7060

7450

7430

7602

7200

7100

1051

7010
10d4

7040

7450

7400

7602

IRAR TEST a

OLA

CLL

TAU K2000
RAH

TAU K6777

GHA

SNA

51L
HLT

IRAR TEST 9

CLA
cLL
TAD K1000

RAH

TAD K7377
GHA

SNA

s:

"L

IRAR TEST 10

ELL

6;;

YAO K0500

RAH

TAU K7577

CMA

SNA

SiL

HLT

7/17/68 539.58 PAGE 21

lRDTATE PATTERN

IRAR FAILED AG AND LINK

IEGUAL 0000

IROTAYE FATTERN

IRAR FAILED Ac AND LINK

IEOUAL 0000

IRDTATE PAYTERN

IRAR FAILED Ag AND LINK

ISHDULD EQUAL aaaa

SHOULD

SHOULD



L239
.;257

Ilaéfl
$263;
1268?

12b§

126‘:
1265

$269-

Lea?
3279

.3271:

‘1272
.32?&

1274=

1279i
1276:

1277

:ama

1&01:

1391

13B!
1304

;595;
1306

15B?

15:5

7290

71fifl
3%50

7915
.1043

7360

7Q§E

7539

7492.

7296
7&fifl
.1fi27

701$
lflfig‘

75£E

7599

7459

7502

7293

7196

1626

7fl10
1541.

73d5

7458

7459
7692

IRAR TEST 11

CLA
CLL

TAD Kazan

RAR

TAU K7677

cna

SNA

SZL

HLT

IRAR TEST :2-

CL!

CLL;
’

TAD K3109
RAH

TAD K?737
CMA

sua

sng

"L!

IRAR TEST 13

GL‘

CLLI
TAD Keane

RAH

TAD K775:7
can

SNA

Sig

“LT

7/17/68 5310.2. FACE 22

IRDYATE PAYVERN

IRAR FAILED AC AND LINK

[EQUAL 0905
'

IROTATE PATTERN

IRAR FAILED Ac AND LINK
ISHOULD EQUAL Bose

IRDTATE PATTERN

IRAR FAILED Ac AND LINK
ISHOULD EQUAL 906%



. 7/17/68 5319.5 PAGE 23

PAUSE



151;
lélz
1513

1516

13;?
16:6
1317

$520

$523

1522
1323

$526

$525:
$526

$327
$365

$551;

gas;

1553
1564

$555

1536

1557
13a0

1541

1542

3543

1544

1545
1546
$647

x590
1391

1392

3593

$554

7209

71

ME
7019

1040
7946

7650

7439

7692

72E0

71$B

1&24

731%
1E37

7E$B
7450

7439

76%?

7208

7190

1023

731%

1036
7049

76?B

743%

74%?

72U3

71UE

lfl22

7019

1635
764%

7450

745%

74B2

V/INSTRUCTIUN TEST 1

ITAPE 2

/RAR TEST 14

CLA
ULL
TAU

RAH

TAD

CM‘

SNA

52L

HLT

IRAR 7E$T 15

CLA
cu.

nu

ma

nu

GHA

SNA

sat.

rm

/RAR TEST 16

OLA

GLL

TAD

RAH

TAU

EMA

SNA

SEL

HLT

IRAR TEST 17

CLA

CLL
TAD

HAR

TAD

CMA

'SNA
SEL

HLT

KEEZE

K7767

K9518

K7773

K9894

K7775

K3002

K7776

7/17/68 5810.6 PAGE 24

IROTATE PATTERN

/RAR FAILED AC AND LINK

ISHOULD EQUAL ”SUE

[ROTATE PATTERN

NIRAR FAILED AC AND EINK

ISHQULD EQUAL BEBE

IROTATE PATTERN

,RAR FAxLED AC AND LINK

ISHOULD EQUAL mega

IRUTAYE PATTERN

IRAR FAILED AC AND LINK

ISHOULD EQUAk @660



15:5
15:6

x557

156%

1501
1562

1663

1554

1555

gabb

1367

1J7a

1571

$372
1573

1374

1315
1576

13/7

1990

14ml

1402
lQUS
14nd

1495

lamb

V1497
1415

1411

1412

1413

1414

1415

1416

1417

142%
1421

1422.

72U0

71mm

1521

7610

1951

7040

7450

742%

74fl2

7209

7190

1622

7912
7529

76$2

732%

7000

7flflfi

790%

1499

72mg

71am

132%

7312
7449

74%?

72B@

7190

1920

7912

7439

74w2

72WQ

710%

7320

182%

7012

74é9

74M2

/HAR TLSY 18

CLA

ULL ,

1A0 K03m1

HAN

IAU K7777.
CMA

SNA

sNL

HLT

/RTR TEST 1
’

GLA

_CLL
TAD K3092

RTR

SNL

HLT

N09

MOP

N0?

N0?

*lawa

IRYR TEST 2

ugh

GLL

TAU Kflaww

HTR -

55A

HkT

IRTR TEST 3

CLA

ULL

TAU KQBMB

RTH ,

Sig

HLT

IRTR TEST 9

ULA
ULL

CML

rAu Keane

RIH

51L

HLT

7/17/68 5810,11 PAGE 25

IRDTATE PATTERN

IRAR FAILED Ac AND LINK
ISHOULD EQUAL mama

iRDTATE PATTERN

/RTR FAILED LINK DROPPED
/A $3? szx SHOULD EQUAL A ONE

IRDTATL PATTERN

IRYR FAILED AC PXCKED UP A BiT

IA ONE 3N Ac EQUALS YHE chxgp up g;7:

IROTATE PATTERN

IRYR LINK PICKED up A 3;?

ILINK SHOULD EQUAL iERG

IRDTATE PATTERN

IRTR LINK chKED UP A BIT

IkINK SHOULD EQUAL ZERO

(3



1423
1424

1425

1426

1¢27

1460

1461

1452

1463

1444

1455

x436

1&47

1440

x441

1642
1S4}

1444

1445

1446

1447

1490

1‘31

1492
14b3

1496

i455

1456

1497

146%

1451

1462

1463

1464

1465

1406

7200

7106

7020

1051

7312
7340

7449

7462

7296

710%

7920

1528

7912

1947
7549

76b9

7433

74w2

7290

71

zogg
7312

1966

7340

745%

743B

74%?

7296

71

mag?
7312
1545

734%

745%

74JQ

74U2

/RTR TEST 9

OLA
uLL

UHL

TAU

RTH

UMA

Sih

HLI

IRTR TEST 5

OLA

ULL

UML

TAU

RTH

TAU

UNA

sNA

sgL

“LT

/HTR TEST I

OLA

CLL

TAU

HYR
TAU

UNA

SNA

52L

HLT

/RTR TEST 5

cga

ULL
TAU

RYR
YAU

CMA

SNA

SéL

HLT

K7777

K6968

K5777

Kéflfifl

K6777

KZEME

K7377

7/17/68 Sliflglb PAGE 26

IROTATE PATTERN

IRTR AC DROPPED A 817 A ONE 1N

[AC EQUALS $HE DROPPED BIT

IROTATE PATTERN

IRTR FAILED AC AND LINK
ISHOULD EQUAL mama

IROTATE PATTERN

.IRTR FAELED ac AND wax
ISHQULD EQUAL 99am

IRDTATE PATTERN

IRTR FAILED AC AND LINK
/SHOULD EQUAL maze



1457
1977
3‘71

1472

3‘73
;474

$975

$476
1777

$5U9
1391

15%?
laws
3594

15%5
;§@6

L5?7
1515

1511
1912

$713
1316

1915
1:33

1947

;926

132;

;322

;923

$527

1225

1226

;227

1939

1931

1962

7290

710%
1032

7812

1944

7646

745%

7436

7aw2

72am

7102

1931

79;?
1&43

7flfifi

7459
7650

ydfl?

72am

7190

lzsa

7%12

1&42
7646

7459

7450

7492

72Efi

710%

1327

7fl12
1941

7040

745%

745%

74E2

IRTR TEST 9

cm

cu.
TAD Klfiflfl

'

HTR

TAU K7577

CMA

SNA

Sit.

HLT

IRTR TEST 1%

. CLA

CLL

TAD K6499

urn
TAU K?677

UNA

SNA

SZL

”LT

IRTR TEST 11
‘

cm

CL.

RTR

TAU K7737

CMA

SNA

Sik

“LT

INTR TEST 12

OLA

ULL
TAU KEIME

RTR

TAU K7757

CMA

sNa

siL

HLT

.L
'

TAU KEZflE

7/17/68 5:10.21 PAGE 27

IROTATE PATTERN

,RTR FAILED AC AND LINK

ISHOULD EQUAL @006

fROTAATE PATTERN

iRTR FAILED AC AND LINK

ISHQULD EQUAL BEBE

IRDTATE PATTERN

IRTR FATLED AC AND LINK

/SHDULD EQUAL WQEE

lROTATE PATTERN

/RTR FAILED AC AND LINK
ISHOULD EQUAL 6020



7/17/68 5!10,25 PAGE 28

IRYR TEST 15

1553 7200 CLA

1564 7100
0 CL;

0905 1026 TAU K0040 lROTATE PATTERN

,1556 7012 RTR

1567 1040 TAU K7767

1540 7040
‘

»

'

CHO

1:014 7450 5N4

1542 7430 Si

154! 7402 “L
'

IRTR FAILED Ac AND LINK

ISHDULD EQUAL 0000
» xnta TEST 14

1044 7200 CLA
;§45: 7100 CLL'
1906 ;025 TAD K0020. IRDTATE PATTERN

1367 7012. >RTR
'

$550 '1037 - TAD K7773

1951‘ 7040 DNA

1992 7450 SNA

1555. 7430 SiL' -

$555 7402 ”L7 IRTR FAILED AG AND.L!NK

ISHQULD EQUAL 0000

/RYR TEST 15

;5:5. 7200 ULA

1556 7100 CLL

;007 1024 TAU K0010 IRDTATE PATTERN

1900 7012
-

RTR

1501 1036 TAU K7775

1362 7040 CMA

;003 7450
’

SNA

1:04 7430 , SEL~
'

;>b§. 7402 '

HLT IRTR FAILED AC AND LINK

ISHQULD EQUAL @000

IRTR TEST 16

$366 73”” CLA CLL
1’97 1023' - TAU K90Q4

_

/ROTATE PATTERN
573 7a 2 RTH ,

i911. 15§5 TAU K7776

;9/2 7543 UNA

1373 7‘50 - SNA

157‘ 7459 SiL

1975 7492 ”L7 IRTR FAILED AC AND LINK

ISHQULD EQUAL 0000



7/17/68 5519.3E PAGE 29

;§7&' 7 mg N0?

$377 7 ”w NO?

1609 £16D3 .

/HTR TEST $7

lbwfl 7299 CLfl

1901 719” ELL
$532 ,1E22, TAU Kfififlz lROTATE PATTERN

$593 7%;2 RTR
1504 7356 $NA

3995 7329 SNL

$695 7492 ”L7 /RTR FAILED. AC SHOULD EQUAL
lflflflfip LINK SHOULD EQUAL ONE

IRTR TEST $5

gag? ?2@% CgA

xfikg 71' “LL
;é;1. 12g? TAD K9901 IROTATE PATTERN

1&124 7w12 RTR

1513 1%59 TAD K5???

19;; 7Q4E DNA

;&15 735E SNA

L61é 743$ . SZL
13%? 7402

‘

HLT - IRTR FAILED. AC AND LENK

ISHQULD BE ZERO

/RAL TEST 3
'

162% 7269 CLA

3621 71$fl ELL

$622 1934 TAU K4660 IROTATE PATTERN

;a23 7afi4 RAg

162$ 745$ SiL

1&25 7a4w 5&3
1926 7£E2 - HLT IRAg FAILED. AC SHOULD EQUAL EBBE

ILINK SHOULD EQUAL ONE.
IHAg TEST a

$627 7296 CLA

1559 71Efi CLQ
léél 1629 . TAD Kflflflfi IRDTAYE PATTERN

;652 7§94 RAL
;553. 742%

'

SNg

1&34 7443
_

82A .

;6§§ 74u2 HLT IRAL FAILED. AC SHOULD EQUAL mafia

[LINK SHOULD EQUAL EERO



7/17/63 5;;O.35 PAGE 32

IRAL TEST 5

lééé 7200 OLA

1657 71' CLL

leam 70gg CML

$b414.1829 TAD KOOOO
'

lROTATE PAYTERN. LINK51

;¢az. 7094- RAL .

géas. 7435 52L

.Lbeau 7402 HLT IRAL FAILURE. Ac SHOULD EOUAL 0201

ILINK SHOULD EQUAL aERO

IRAL TEST 4

1645 72OO CLA

1946- 71mm GLL=

lea? 7629 CML~ -

’

,3559 1051: TAO K7777
‘

IROYATE PATTERN. LJNKsl

1951; 700¢ RAL

3652 7940 OMA

$653, 7440 53A
$6§4 7402 HLT IRA; FAILURE. LINK SHOULD EQUAL ONE

/Ac SHOULD EQUAL flflfifl
. [HAL TEST 5

ibb§:.7zOO CLA

1636‘ 7105 CLL .

gea? 1033- TAO K2000 IROTATE PATTERN

156% 7006- RAL. »

$661" 1959 TAU K3777

ghee; 7asn
_

CMA‘

1663- 7659 SNA

1664» 7453 32L
$665: 74a2. HLY IRAL FAzLURE. Ac SHOULD EOUAL 6669

ILZNK SHOULD EQUAL-ONE
- IRAL TEST 6

1666 72OO OLA

1b67 7103 CLL
1670 1652 TAD Kgaav IRDTATE QATTERN

1671. 7094 RAL-

lb72: 1047 TAD K5777

1673 7940 OMA

;e74 7449 52A

@675. 7402 HLT IRAL FAILURE. Ac SHOULD EQUAL 966%

ILINK SHOULD EQUAL ZERO



1676

1677

1792

17ml

;7w2

gins
47fi4-

lifi§

;7ws

1797
171
171 -

xix?
1713

$714
1735
1716

1717

$72%
1721

3722

1723
$724

$725
1726

$727
1759

7200

7190

1a31

7ama

1046

7040

7452
7435

voaz

7290

71
1535
7594

1545:

7560

75§0

7439

?692

7293

719%

1527

7996

$044
7@&%

7459

7439

74fi2

/RAL TEST 7
"

CLA

CLL
TAU

HAL

TAU

UNA

SNA

53L
”k7

XRAL TEST 8

CLA
CLLt
TAU

Rflk

TAU

CMA

SNA

52L

Hg?

/RAL TEST 9

uga
CLka

TAD

HAL.
TAU

CMA

SNA

Sit

”LT

K0498

K6777

K9295

K7377

Kflififl

K7577

7/17/68 5610,39 PAGE.31

[ROTATE PATTERN

lRAL FAILUREt AC SHOULD EQUAL flfififl

ILINK SHBULD EQUAk EERO

IROTATE FATTERN

IRA; FAlLURE AC SHGULD EQUAL 9990

ILXNK SHGULD EQUAL ZERO

IRDTATE PATTERN

/RAL FALLURE AC SHOULD EQUAL 939%

ILENK SHOULD EQUAL EERO



7/17/68 5:19.45 PAGE 32

IRA; YES] 10

17é1 72mm ugA

1/42 71flfl a CLL

1/43 1$26 ‘ TAU K004” IROTATL PATTERN

1744 7U04 HAL

$755. 1043 TAU K7677

;766 7040 EMA

$757 7490 SNA

1740 743% SEL 'IRAL FAIBURE
AC SHOULD EQUAL U660

;741 7402 HLT ILINK SH ULD EQUAL A EERO

IRAL 1EST 11

1742 720% ch

g743 7199 CLL

1744- 1025 TAU KEEZU IRDTATE PATYERN
@745. 7994 HAL

.1746 $042. TAU K7737

A747 7959 CMA

$759 7453 SNA

;791. 743% SEL. IRA; FAILuflE AC SHOULD EQUAL eggs

;752. 7662. ”LT ILINK SHOULD EQUAL A ZERfl

. IRAL TEST 32

1755- 7209 CLA

1755- 7106 CLL

;755 1624 TAD KEE$0 IROTATE PATTTERN

1756 7594 RAL

i797 1041 TAD K7757

1765 7040
'

DNA

:761 765% SNA

$162 7430 82L IRAL FAzLuflE AC SHOULD EQUAL 9299

1763 7492 HLT ILINK SHOULD EQUAL A EERO



‘8763
1769

giéé
$767
3773

i??31
117g
1773
177a

77$

7?§

E???

3&98

Zfigg.
Efifia

339$
2§@$-

Zfififi

253%

293?

3518

2&11‘

2912

2913

2&36
2919

2319

2937

2323

2%2;

3922

2&23

2%26

2625

2926

2&27

ZQéE

2%61
2062

7295

71mg

lags
7as4

1949

7949

7a59

?ase

7492
75am

ysaa

7saa

2389

?3@§

719%
1322

7&94

1357
7E4E

?4§9

7G§B

7492

7399

7196

1&21

7364

1356

734%

7455

7438

7£fi2

7205

71$B

702%

7604

1635

7%48

7650

7459

7402

lRAL TEST 33

“EEQE

CL§

CLE
TAD Kgggfi

H‘L

TAU K7737

CHfi

SNA

HLT
N09

N03

N09

IRAL-TEST $6

GLA

ck;
TAD Kfiflfifi

RAL
TAD K777:5
CHE

SNi

SiL

HLT

IRA; TEST 15

OLA

egg
TAU K99fil

RAL

TAU K7775

UNA

SNA

8%

HL

/RAg TEST 16

ULA

CLL
CML

HAL

TAD K7776

UMA

SNA

SiL

HLY

7/17/68 Sififlaéé EASE 33

lfififéYE PATTERN

lRAg FAIEED
Ac SEOUL D EGUEL @figfi

iLENK SH QLQ EQUAL & EERD

iRQTQTE fifiTYERN

lRflk FAXLEQIAG SHOULD EQUAL QEEQ

ILENK SHGULQ EQUEL A EERD

fROYAYE PATTERN

IRA FAI ED AC SHQU D EQUAL fifififi

1L1 K SH ULD EQUAE EERO '

[RAL FAILEU AC SHOUED EQUAL fififlfi

ILXNK SHOULD EQUAL ZERO



7/17/68 5810.51 PAGL 34

/HTL TEST 1

zwés 72mm GLA

2364 71MB ULL

ZBJS 1033 TAU K2803

2ué6 70u6 HT;

2937 7420 SNL
2u40 7‘02 HLT IRT; LINK DROPPED A BIT

ILXNK SHOULD EQUAL A ONE

IRTL TEST 2

2&41 72%0 OLA

2 42' 71 CLL
2 43 lflgg TAD K6099 IROYATE PATTERN

2544 7B$6 HTL

2545 7‘40 52A
'

'

2946 74”? HLT IRTL AC PICKED UP A HIT
[A QNE 1N AC EQUAkS THE PICKED UP

- lRTL TEST 5

2$47 7299 ULA

2Ub0 7190 CLL
2991 1926 TAU Kflflfifl IRUTATE PATTERN

2%92 7BQ6
’

RTL
I

2693 7453 SiL

2534 74fl2 HLT IRTL kINK PICKED UP A BIT
.ILINK SHOULD EQUAL EERO

INT; IEST Q

29:5 72mg
.

OLA

zaps 7192 9L;
2w»? 7a23

‘

,

CML
zaoa 1m20 IAU Kazan IROYATE PATTERN

2961 7DE6
. RTL

zuoz 7430 szL
2063 74v2 HLT IRTL FAILURE. LINK PICKED UP A BIT

ILINK SHOULD EQUAL A ZERO



399$

2065

Zfifié

29b?

2376

2373.
2@72

2fi7$

Efi7$

aw7g:

2$7§

2%?7

8&fifl

219a:

gaaz

219$
3194-

2195
3&06

21@?.

2119

2111
2112

21;3

2114

21;5

leb

21;?

2120

212&
2122

2123

2124

72flfi

710%

7023

3951
7596-

7%48

7645

?4fi2

72@E

719E
1534~
75$6

i535‘
7E§E

74§9

7¢3$

76E?"

??Qfl

7199
1933;

79Q6

7459

7423

7492

7290

71$9
1952

7696

lflEB

764%

7490

7430

7492

/RTL TEST 9

GLA

GLB

$NL
FAD Ky???

fifk
EMA

52A

”LT

IRYL4YEST a

GLA
CLL:
TAD K4363

RTLi
VAR K7?7&
CH‘

sua

SEE
“LT

IRTL.T£§T 7

GLA
Ctk;
TAQ Kgfififl

RYL

SNA

sNL.

HLT

IRTL TEST &

GLA,
CLL
TAU Klflfifl

RTL
TAU K3777

UNA

SNA

5%

HL

7/17/68 5316.54 PAGE 35

IROTATE PATTERN

IRTL FAELUREn DROPPED A

IRUTATE BAYTERN

IRTL FfiILED £0 AND LINK

1RDYATE PATTERN

/R?L F‘SLED AC AND LINK
IEQUAL fifififi

IROTATE PATTERN

IRTL FAILED AC AND LINK

IEQUAL BBED

3!?

SHOULG EQUAL aeaa

SHOULD

SHOULD



2125

2126

2127

3160

213i

2152

2153

2164
’2135

2130

2157i

2199

Zlfil

2142

2153

2194
2155

2146

2197
Zlfifl

215;“
2192
2153

2154

.2155:

2156

2157

2165
2161"

2162

2163

2164

'2105

2106

2167

Zl7fl

7200

71fl6

1031

7306

1047

754%

7‘59

763%

7492

7299

7199

1933

7996

lflfié
7540

7‘50

7460

74%?

72mm

71mm

1527

7ama
xzos

7 4

795%
7430

7402

7200

7100

1026
7006

1044
7040

745$

7436

7492

lRTL 1:31 9

cLa
ULL

. TAD

‘RTL

TAU
UNA

SNA

83L

HLT

'Koauw

K5777

IRTL TEST 1%

CLA

CLL.
TAD

RTL
TAU

CHA

SNA

53L

"LT

IRTL TEST 1

CLA

CLL
TAD

HTL
TAD

CM“

SNA

Kazaa

1K6777

1

Kfliflfl

K7377

SZL

HLT

IRTL TEST 1

OLA

ELL

IAU

RTL
TAU

CMA

SNA

St

HL7

2

Kflflflfl

'K7577

7/17/68 5319.59
'

PAGE 36

IROTATE PATTERN

IRTL FAILED AC AND LINK SHOULD

IEGUAL,zERo

'IROTATE PATTERN

,RTL FAILED AC AND LINK SHOULD

IEQUAL awav

lROTATE PATTERN

IRTL FAILED Ac AND‘LINK SHOULD

xtouAL 000%

IROTATE PATTERN

IRTL FAILED AC AND LINK SHOULD

IEOUAL @060
'



2171
21/2

2173

2174

2175

.2176

2&77

23mm

2am;
22E?

22$3

ZZQQ

22 9

22 6

2297

221$

221;
2212

2213

223!

2215

22;6

22;?

2225

2221

2222

2223

2224

2225

2226

2227

2259

2261

ZZJZ

-22é3

2264

2265

2266

2467

2440

224;
2242

2263

7E9”

7EMB

7600

7flflfi

7fifi0

7E0@

709%

2299

720$

719$

132$

7EE6

1fl43

am
7653

7692

7299
7199
3924
7%9é

15$?
7fififi

7659

763%

76fi2

72fi8_
7195

1fl23

76%6

$541
7 4

7%58
763$

74E2

72EE

7192

1022
70W6

1640

7540

7450

7430

7002

NOP

NOP

N0?

NOP

N0?

N09

N09

022flfl

iRTL TEST 13

OLA

CLLr
7A0 K9526

”TL
TAD K7377

CH5

SNA

51L

HLT

IRTL TEST :5

OLA

CLL
TAD Kfiflifi

RTL.
TAD K7757

GHA

SNA

3i

HL

IRYL TEST 35

OLA

CLL

VAU K9004

RTL

TAU K7757

CM“

SNA

SiL

HLT

/RTg TEST 1Q

CLA

CLL
TAU Kflauz

HTL

TAD K7767

EMA

SNA

SiL

HLT

7/17/68 5311.3 PAGE 37

IROTATE PATTERN

IRTL FAILED Ac AND LINK

IEOUAL ewes

(RGVATE PATTERN

IRTL rango AC AND LXNK

IRDTAfE PAYYERN

IRTL FAILED AC AND LINK

xgouAL mace

iRUTATE PATTERN

IRTL FAILED AC AND LINK

ISHOULD EQUAL M060

SHOULQ

SHOULD

SHOULD



2244

2245.

.2246

225?
22§9

2251?
2252:

22:3
2251

3335:
.2256

23$?

ZZQD

2261.
22$?

22fi3

23§¢

ZZQE.

7290

7100

1E21'

7Ufl6

10$?

7849

745%

7&60

7402

72%9

71WD
7fi25

7926

1036
7U§D

76§E

7‘59

74E?

/RTL TEST 17
,

CL“
CLL
TAD K6901

RTL

TAU K7773

CHI

SNA

SZL

”LT

IRTL TEST 18

cg;

ELL:
CHk

RTL
TAD K7775

GMA

SNA

SEL

Mn

7/17/68 5111.9 PAGE 38

[ROTATE PAYTERN

IRTL-FAILED ‘0 AND LlNK

ISHOULD EQUAL 9066

IRTL FAILED *6 AND LINK

ISHDULD EQUAL @665



7/17/68 5!11,11 PAGE 39

,uRoup 1 opERATE TEST 1

2266 7290 GL1 ICLEAR AC

22o7 7199
,

CLL
.

ICLtAR LINK
2270 7960, DNA iAC EQUALS 7777

2271 7929 CHL ILINK EQUALS ONE

2272 7396 CLA CLL ITEST COMBINATION
2273 7420 SNL

2274 74¢a' SEA
'

2275 74%2 HLT ICLA ELL FAILED, LINK SHOULD BE 6

/Ac SHOULD EQUAL aewz

iGRQUP ; OPERATE TEST 2

2276 7299 UL‘ IAC EQUALS QEBB

2277 1353‘ TAD K2525 IAC EQUALS 2525

25$? 724E CL“ CMA ITESY COMBINATION

2551 754% GfiA

2552 76Qfi
V 82A

2395 74%?
_ HLT /QLA CHA ERROR. AC SHOULU

/BE 63%9

/§ROUP 1 QPERATE TEST 3

23§4 729$ OLA

2565 71E9 CLL
ZJBé 79$9 CMA IACSV777 LINKsi
25$? 71%@ CLE CHA ITESY CONBXNAYIQN
253$ 743$ '

SNL

2511. 754% SEA

2&12 7&8? HLT ICLL CHA FAILED, AC AND LZNK

ISHQULD BE EERO

/GH0UP 1 DPERATE YES? 4

25 3 7 QB ELL

83 6 7 28 GML . /LINK31

2515 72am OLA

2516 7969 UNA IAC§7777

Z$l7 734B CLA CHA ELL ITEST COHBINATlON
2320 7549 EMA

2&21 7d2$ 5NL

2522 7Q4fl SiA

2523 7492 HLT /CLA CMA CLL FAJLED. AC AND

ILINK SHOULD BE ZERO



2524'

2525

2526

,

2527

-233@

355;
2551

233$

335$
2$é§L

$335

3557,

8549
3361:

R348;
3§L§L

3344

.2549

254%

23¢?

3359
Zéfii

35§2‘

2$§3\

233$
23§5

2356

7299

7133
7fififl

7229

7439

7449

7682

71

7&38
712a
7429

7G$a

7&Efl
712$
7$§$
7LE2:

7138
7%55

732$

7538

74%?

7492:

7346

732$

74&@

7&69

7492

(GHoUP

IGROUP

xenon?

iERQUP

ifiRQUP-

7/17/68 5i11.15 PAGE 40

L opsnara TEST 5

cLa

GLL
on:

CLA CML
szL

52A

HL$

L OPERfiTE TEST 6

CLL;

CMLe

CLL-GHL

sNLi
ML?

A UPERA?E TEST 7

1.QPERATE.TEST’B
CLL;CWLE
GLA CNA

GL3 CLL GML
SEL

S§A
”LT

i OPERATE-VEST 9

GLfi CLL90MA

Ckfi CLLLCML'
SEL:
Si!

in".7

lLlNKan
/AC§7777

ITEST COMBINATION

IGLA CML FAILED. AC SHOULD EQUAL

zasua. LINK SNOULD a: A on:

ILRNKBL

ITESY‘CONBINATION

LL CHL FAIL;
IEENKC SHOULD 9 fl ONE

[LINKIE
ITEET‘COHBXNATION

IcLLgML
rénggleNKc SHOULD A owe

[LINKLL

IA03?777

ITEST CONSENATEON

ICLA CLL CNL-EAXLEDa LINK SHOULD

[BE 1; AC SHQULD BE EERQ‘
’

ILINKBE. A087?77
ITEST COMBINATIGN

ICLA CLL CHL FAXLEDa LINK SHOULD
(8E 11 AC SHOULD BE BERG



2557
2369

2561
2562

2363

2564

2565

2366

2567

2370

2371
2572

2573

257d

2575

2576

257?

2493

ZQBL
24$?

ZQUS

ZQEQ

2&95

24%6

2597

24l$

2411

2412

EQLS
2414

2415

2416

7540

7060

7‘30

744%

7402

739%

1953

73fi6

7$éfi

7429
7&49

7432

7555

7599

7990

3599

79$6

ZQQQ

7339

l$53

Yiéfl
3E55

764$

743%

744%

7492

7396

7a20

7169

7549

7459
7449

7¢w2

IGRQUP 1

IGROUP 1

7/17/68 5513.2” PAGE 41

OPERAYE TEST 1%

cga CLL CHA /AC:7777. LINKFE
CMA CML. ITEST COMBINATION

82L
5;:

HLT lGMA CML FAILED, AC SHOULD BE

[9699 LINK SHOULD EQUAL ONE:
QPERAYE TEST 11

cLa CLL' lac AND szxaa
TAD 2525 IAC§2525

GLA EMA ELL 17:5? comaanron
QHA

SNL

SEQ
'

“L?
.

lGLA CMA~CHL.FA!LEU. AC SHOULD EE
’93959 LINK SNGULQ EQUAL 2530

N9?

N09

N09

N09

_NQ9

“249$

IGRDU? 1

IGROUP 1

OPERATE TEST 12
’

SLL.CLé [AC AND LINKEE
YAU K2525 iA632535

CLL CMA CHL ITEST CQMB£NAYEQN
TAD K2525

UNA

53L
SEA

'

,

HL? ISLE EMA CHL FAILED: AC SHOULD BE

lfiflflfie LINK SHOULD EQUAL ONE

OPERAfE-TEST 13

CLA CLL
GML /AC§@@BE. L3NK51
ELL CMA CML {TEST COMBINATION
EMA

52L

SEA

HkT ICLL CHA CM; FAXLEQ. AC SHOULD
IBE amaze LINK SHOULD BE ONE



2417
2620

2421
2422;

2483
2‘24

202!

3&26

2427

2‘50

345%:
245?

2453;

246a

2‘55

2436

2‘57
2440

2441
2442

‘2643

2444
2445

2446
2947

2450

245l
2492

7300

1053

73b0

7 4

73-:
7440

7402

7320

1052

7360

7040

7630

7640

7602?

7209

1953
7201

1055
7040

7140

7402,

7320

1055

7101.
7000

7‘20
7640

7402'

7/17/68 5511.2“ PAGE 42

IGROUP ; OPERATE TEST 14

CLA CLL.
TAD K2525 IACz2525: LINKFO

EL:
CLLICHA CML /TESY COH83NATION

'M

BEL
Si“

“LT ICLA¥CLLVCHA CML FAILED..AC SHOULQ
[BE 0000.L1NK SHfiULU-EGUAL 0N5:

IGRQUP $.03ERA?£ TEST lfi. .

CLA-CLLiGML:
TAD K5252: 1&9a5852§ LENKEQ
GL5 CLLiGNA CMLI/TEST CDMBINA?19N
UNA

SEU

sag.
”LT ICLA~CLL CMAeCML'EAlLEDe AC SHQULQ

“ l3£=0008 LiNK SHOULD EQUAL QNE

IGRQUP ; OPERAYE YES? 1&-
G A ‘L
TAO K2525z xAcg2525=
CLA 1A6 [TEST CQHBJRA?ION
TA02K7776

GHA

Si!

”LT ,GLA 1A9 FAILEQ
IAC §HOULD EDUAk 0000

zsnaup ;.oagaar;;vssv"a7

GLL26ML§QLA
TAD K77762 IAGQ7776, LINngH
GLLéIACi zwssr-conaxuarxow
CHifi

snu

83A
-

HLT ,CLL IAG FAILED. ac AND LINK

[SHOULD EQUAL-ZERO



7/17/68 5511.28 EASE 43

IERQUP 1 QFERAVE TEST 18

2222. 7222
.

2L2 CLLzCML
2222.,2222. . 129 22222 22322525 LiNKsi
2222. 7322: CL A

Cg§é122 /TEST comeNATtflN
2222. 1222- _

122 2 72

2222 7222 022

2222 2222 22L?

2222; 7222 $22, -

2222' 7222' 2L2 ISLE CLL 128 FAILEDL 22 222 LINK

IEHQULD BE'EERQ

iGRGUP‘E QEERA?E TEST i9

3525i 73@@ . CLE ML.

- [A026 LINKEQ
.2222- 722;; 022 :22 17227 22221222322
.2222: 7222 22L

-

,

2222. 2222 222. .

.2222 72222 222 1222 322 FLzLED, 22 2222Lo EQUAL

ffifigfig-LINK EHOULC EQUALLQNE'
{ERQUP~E DEERATE-TES? 2E

'

2222. 2322 2L2.2LL;
2222;.2223.

2

722 22222. 2A222225 L3N222
2222; 7222: 2L2 222 222 /?E$T 09223227122
22224 7222 22La
2272: 7222 222:

2222: 7222 2L2 I2L2-222 EEC 221L229 22 2H2UL2
[EQUAL fiflfifi. LENK SHOQLQ 8E CHE:

IGRQUP 1 QEERAYE TES? 2;
2272 7222 ELL-OLA CML 12222222 LENKsi

.2227' 2221; 122 22-21 22222221
2222 7221 GLL 6M2 :22 27227 eQMSiNAVZON

2222: 7222
_

222

2222. 7222 SNLr

2222/ 7222 222 .

gfifié 72921 “LT IQLL CMA.1AC FEELED. AC SHCULD BE

2

22222 LlNK SHOULD 22 2

_

‘

.

_,, .222222 2 22522TE YES? 22

2225. 7222 2L2 cLL CML

Zfiflé 1353 TAD K2525
I

IAC22525 LlNKEi
35$? 7341i GL2 CLL CMA 3A0 ITES? COMBINAYXON
Zfiifi 74$E SEL-

25;;; 7429 $22

2532 7492i “LT /CLA ELL CHA [AC FAILED, AC SHOULD BE

lflflflflg LXNK SHOULD BE ONE



2513

2:14

2515

29:5
2517
2:20

2521
2922

2923
2321

2525:

2526
2527

2559
295%
2552

2553

2354

2955

2956

2257
254a

27~1

25¢?

2513
2544

2§§5
2546

2277

29am

2:51
2:92

2:23

2:94

2:95

7380

1952
7341

7435

7QQD

7402

7390

1555

7321:
7940

7fi§fl

7645

7492

732%
1035

7921

704%

7425

7446

7462

7300

1053
722;

1535
7046

77450
7445

7402

7320'

1055

7121

7045

7‘30

7440

7402
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IGROUP 1 OPERATE TEST 23

/GROUP

IGROUP

IGROUP

/GROUP

1 OPERATfiszST 25

OLA CLL
TAU K5252 /AC:5252 LINKSE
CLA CLL CMA IAC ITEST COMBINATION

51L

51A
'

HLT
'

ICLA CLL CMA 1A6 FALLED AC SHOULD
IBE @999. LINK SHOULD BE ONE

1 OPERATE TEST 24

CLA CLL
TAD K7776 IAOa7776 LINkze
GML.IAC ITEST COMBINATION
CMA

52L
5;: .

HLT IGHL IAC FAILED AC SHOULD BE

lflflwfl. LINK SHOULD BE ONE

CLA CLL CHL -

TAU K7776 IAC 57776 LINKp;

CHL zac ITEST COMBINATION
CMA

SNL

52A

HLT ,cng IAO FAILED, ac SHOULD BE

lemma. LINK SHouLD BE ZERO

OPERATE TEST 26
CLA CLL
TAD K2525 /Acg2525 LiNKaB
OLA CML IAC xtesr COMBINATION
TAU K7776

CMA

52L
sen

HLT /GLA CHL IAC FAILED AC SHOULD BE
/OOOO. LINK SHOULD EQUAL ONE .

l OPERATE TEST 27

CLA CLL CML IACSEGEE LINKgi
TAU K7776 IAC87776

CLL CML IAC ITEST COMBINATION

Cnh
'

51L
SEA

HLT ICLL CML IAC.FAILURE. AC SHOULD BE

/fl@0@. LINK SHOULD EQUAL ONE.



2396

2557

Zfiéfi

2§é1
2$b2

2565

2566

gfififin

.2366

23%?
2579

25?;
25?:

2273

25:3‘

2$7§L

2576
8577

2595

269:
2692

2603

26w£

2605

waé
2607

7809

1055

7121
7566

7459
7649

74$?

73wa

1m§s

7331
1335
79a9

7456

74ae

7d$2

750$

799$

Ffififi

25%9

732%

1353

7321
1fl35
7549

745%

7642

74%?

7/17/68 5511.35 PAGE 45

IGROUP 1 OPERATE TEST 28

GLA cLL
TAD K7776 IACa7776 LxNxsa
CLL CML iac ITEST COHBINAYION

UNA ,

SEL

SEA

HLT ICLL CHL [AC FAILED. AC SHOULD

IBE @930. LxNK SHOULD BE ONE

IGRDUP 1 OPERATE VEST 29

“BSQQ

CL‘ ELL: V

TAU K2525 - IADSZSES. LINKIE
QL‘ ELL CHL 1A9 ITEST COMBINATION
TAD K7776

>

Ema.
Sgt
Sié .

“LY IGLA CLL CHL«I‘C FAILED. AC SHOULD
IEE 5063. LINK SHOULD BE ONE

N0?

N09
N09

IGROUP 1 OPERATE TEST 39

CLA CLL CHL
TAU K2525 IAC§2525 LINKsi
OLA CLL CHL IAC ITEST COHBXNAYION
er K7776 -

cmn

SEL
sea

H_

‘

“LT ICLA CLL CML ‘AC ngLED C SHOULD
I85 @992. LINK SHOULD BE 3N:



2616

2611
2512

2513
2613

2515

Zfizé

2517

232%

262L
262?

2323

2524
2625

2326

25271
2650

2651
2652

2633a

2&54
2565

2566

2567
2640

2641

7300

1021’

7961
7049

7‘5B

7449

7402

7329

1321!
79é1‘
7519

7629

7449

7QE2_

7339
1653

72bx

7&20
7430

74%?

7325

1553
7261

7430
7646

7402

IGROUP 1 OPERATE-TEST 32
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[GROUP ; OPERATE TEST 31
.

CLA CLL
'TAD Kflflfil /AC:BEU1 LINKsn
CMA CML IAC ITEST COMBINAT!0N

CnA
SéL
52A

HLT ICHA QM; {AC FAILED. AC SHOULD
IBE BEBE. LINK SHOULD BE ONE

GLA CLL-CML
TAD KBUU;‘

-

IACgflaB1.LXNKg1
EMA CHLftAC . ITEST'COMBINATIBN
CHA

SNL:

SEA
HLT ,CHA CML.IAC-FA:LURE. Ac SHOULD SE

/@595. LINK SHOULD BE EERO

IGRDUP.1 OPERATE TEST 33

CLA CLL< [ACEEQUQ LINK!”
TAD‘ 2525 IAC§2525
cLA EMA CHL [AC 11:57 conequtxo~
sup

81L:
.

HLT IGLA GHA CHL lAC-FAILED. AC SHOULD
_

/BE 0068. LINK SHOULD BE ZERO

IGROUP L OPERATE VEST 34 ‘

GLA CLL.CML . .

TAO K2525 IACEZSZS LINK51
OLA CMA CML IAC ITEST COMBINATION

82L
52A

HLT /CLA CHA CHL :Ac FAILED. Ac SHOULD
IBE BEBE: LINK SHOULD BE ONE



2642

26$3
2644

2645

26Q6

2547

abbfl

265;
Zfibz

2593
265$

265$

Ebbs
-

2557

'

2660

2661
2562

2663
2664

2665

2666

2667

2579

2671

2672

2673

2674

7339

1021

7161

7049

7‘59
744%

7662

7325

$621

7161
7040

-7450

7640
7402

7599

1953

7361

7420

7&49

7492

736%

721%
1359
7048

7429

7440

7602
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IUROUP 1 OPERATE TEST 35

CLA CLL
IAU K0691 IACa0991 LINKafl
CLL CMA CML IAC ITEST COMBINAYION
CHA

-

’siL
saa

HLT -

/cLL CMA CML 1A0 FAILED AC SHOULD BE
'

xazwa. LINK swouLo a: 0N:
IGRQUP ; OPERATE 1:57 36

GLA cLL CHL
7A0 Kfiflfli . IACsaaw1 LINKsi

Sh:
CMA GHL IAC IVES? COMBINA?!ON

52L
sza

HLT _ ICLL CMA CHL :AC FAlLED. AC SHOULD as

lfiflflfl. LINK.5HOULD 8E ONE

IGROUP 1 OPERATE TEST 37

CLA cLL
TAU K2525 lACaZEZfi LINKaa
CLA CLL CMA CML Inc ITEST CQHBINATION
SNL

52A

HLT ICLA CLL CHA CML {AC FAILURE AC AND

xgxux SHQULD EQUAL ZERO_

xuwoup 1 OPERATE TEST 38

CLA CMA CLL'CML /AC§7777 LINKzl

CLA RAR ITEST COMBINATION
TAD K3777

UNA

SNL

52A

HLT ICLA RAR FAILED. LINK AND

xac SHOULD EQUAL ZERO



267‘

2676

.2537

27B!

2731
2763

2703

2794
3705;

3736

3797
271'

271::
3711

2713
271‘

3715

2716

2717

2720

272;

2722
2723

2724

2725

2726

2727

2750

2751

7369

7294

1035

70Q0

7420
7449

7482

7365

7232
1937
7540

7426

744!

7692.

73¢D

7206

1536

7940

7420

7449

74E2

7320

1D26

7110

1041.
7040

,7420

7‘46

7402

7/17/68 5311.49 SAGE as

,uaoup ; OPERATE TEST :9

CLA CMA GLL CHL IAC§7777 anxgz
GLA RAL' . [TEST COMBINATION
TAD K7776

cna

SNL-
_

52A ‘

HLT , xcLA RAL Fango szx AND

IAC SHOULD EQUAL EERQ
{GROUP ; OFERATE $557 so

0L: CMA cLLICML'IaCsv777 LINK—#1
CLA RTR. x7557 COHBXNATZON
TAD K5777

on;

sNy
sgA

”LT ICLA are PaaLgD, AG AND

_

(LINK SHOULO a: afino
zsaoup ; DEERATE TEST 4;

cLA CMA.CLL'CHL./Aca?777a LINKag
CLA RTL? ITEST COHBXNKTXON
TAU K7775

cna
*

SNL
sea

HLT IGLA RTL FAILED, ac AND.LINK

ISHQULDBE asao
/GROUP 1 OPERAYE 7:57 42

OLA CLLiCML
TAD K0048 lAcgfifldfl LINKsl
ELL-RAR. 11257 COMBINATION
TAD K7757

on;

SNL

sit

HLT zcgg RAR FAILED, AC AND Lzux
~ ISHQULD BE ZERO



27$2
2733

2754

3765
2756

27$?
2746

2761

2742

2743

2746

2735
27$&

2747

275%

27§1

3732

27fi3‘
2754

3755

27§6

2197

2759

27¢;

27%?

2763

2764

2765

2766

7320

1026

7104

1043
796%

7420

744$

74%?

7329

LQZé

7112

lfiéfi
7E$Q

7&29

744%

7592

7329

1326

7196

1W44

7969

7420

7&40

7492

7369

7319

7420

744%

7402
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IUROUP ; OPERATE TEST as

CLA CLL CML
TAU K6540 ‘ IAC!QEGE LINKsi
CLL RAL ITEST COMBINATIO~
TAD K7677

UNA

SNL
52A

'

HLT /CLL RAL FAXLED, AC AND LINK

ISHDULD BE EERO

IGRDUP 1 DEERATt YES? 44
'

CLfi CLL CML=
7&0 K9645 >IACsBfififl Lxmxgi
CLL-RTR ITEST COMBINATION

TAD K7767

Gmh

swg;
SEA

HLT IGLL RTR FAILED. Ac AND Lina

iSHQULD BE EERO

xgaoup L OPERAYE TEST 4s

GLA CLL CHL

1&0 Kfifléfi IACseaaa LINst
GLL RTL ITEST COMBENATION
TAD K7577

cna

SNL
52A

HLT ICLL RTL FAILED, AC AND LINK

ISHOULD BE zinc
-

IGROUP 1 OPERATE TEST 46 .

CLA CLL CML CMA IAC§7777 LINKsl
CLL CLA RAR /TEST COMBINATION
SNL

szn
,

HLT /CLL CLA RAR FAILED AC AND

lLiNK SHOULD BE ZERO



2767

2770
2771;

2772
2773

277¢

2775:

277i

277?

-§990

3i91:

3393;

3303
39%!

.309w
away

§$E7A
3913

5911:

533!
Sal}

3914

3915

591‘

5017

SDZD

7360

739‘

7‘2!

743%

7492

7009

79flfi

7999

7509

35%9

7363

73%?
7‘30

74GB

7‘02

7369
7596

7429
7449

7402

739$
753%

1559
7E40

7429

7440

7402

7/17/68 5l11.58
‘

PAGE 56

IGRQUP 1 OPERATE TEST"7
OLA CHA CLL CHL IACE7777 LINK81
CLL;CLA RAL ITEST COMBINATION
SNL-

fiiL

”LT ICLL-CL‘ RAL F‘lLEDc ‘0 ‘ND

ILINK SHOULD BE !§R0

NQPV

N0?

NOPE

Nov

#3599 ‘

/Gaouw.1 OVERATE:TCST'4§-
cLA.an.GLLtanw/Acuv777‘gznxu:
GLfl-CLLERTR' ITEST COMBINATION
SNLE

Sifi,

“LN ICLA CLL RTL FAILED. A8 AND

‘lkfiNK snouga a: IERO’

IGROUP $.0PERATE TEST 59

CLA UNA GLLEGHL (aes?777.L1NKai
CL! GLL:RTL> ITESY COHBINATION
SNU

_ sg‘. .

"L7 iGLA CLL;RTLEFAILEDc Ag AND

‘ILINK SHOULD EDUAL lino

IGROUP.1 OPERATE TEST”59
GLerLL, IACEGEOB LxNKae
CM 59*3 ITEST COMBINATION
TA K3777

cna

SNL

sga .

HLT
_

ICHL RAR FAILED. AC AND LINK

ISHOULD BE zinc



5’2
332

sues

$024

sags

saga

3&27

§$fifi

3651
3%52

5953

5956

Sgéfi

Sfléé

§9é7

éfiflfl

584;
5 42

3 43

5&64

JEGS

3&46

,3a47
éflbfi

5051

3052

3593

6&94

JDDS

7398
7924

1555
7949

7Q20
7649

7¢fi2

7§Efi

7&5?

1347
7$46

7629

7649

74%?

739%

7626

1956

:m
7449

7492

73$B

1552

7250

1056

7Q4fl

7429

744%

7492
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/GROUP ; OPERATE TEST 51

CLA CLL IACSQBBE LINK 9%

URL RAL ITEST COMBINATION

TAD K7776

UNA
:

SNL

Sia

”LT IGML RAL Ffi1LED, AC ANB

ISHOULD BE EERD.
IGRQUP 1 QPERATE TEST 52

CLA CLL IAC?EQ6E gINng
UML RTR ITES? COMBINATION
TAU K5777

fink
‘

SNL

fififl

”LT IQMg RTR FAELED, kfi £NB

ISHQULQ EQUAL EERG

IGHQUP 1 OPERATE TEST 53

Vega CLL 7&Cafifififi LgNKgfl

UML RTL
'

iTES? COMBINATfiON
TAD K7775

Ema

SNL
SEA

”LT 76H; RTL FAILED, AC AND

iSHOULD EQUAL EERO
. /GROUP 1 OPERATE TEST 94

CLA CLL
TAU K5252 IAC=5252 LINK;Q
CL“ CfiL RAH lTES? CONSINATIQN

L

TAU K3777'
V

UNA

SNL
52A

HLT /CLA CML RAR FAILED. AC

PAUSE
‘

LENK

LENK

LINK

AND



UN

0000

U901,
9302

@693

@964

@005

@006

0997

9%;9

931%
Ufill

g1}
91‘

0315

@315

0337

0920

3981

@922

0023

@324

@325

0926

B027

005%

$051

0032

$933

flflét

@565

0099

7380

1552

7224

1535

7049

7‘20
7440

76%?

738%

1552

7232

1 47

7 40

7429
7640

7432

730a

1052

7226

1536
7fififl

7620

7440

7402

7399

7130

7Bfl4

763%

7446

7402
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QUO. D

llNSTRUCTION TEST . 1

IGROUP 1 OPERATE TEST 55

/TAPE 3

CL‘ CLL

TAU K5252 IA685252 Llega
OLA CML RAL 7TEST COMBINATION

'TAD K7776

cna

SNL

SEA

HLT ICLA CML RAL FALED. AG AND

ILINK SHOULD BE zERO

IOROUP 1 OPERATE TEST 56

CLA cLL
TAO K5252 IAC§5252 LlNKsO
ELA CML RTR ITEST COMBXNATION

TAD K5777

CMA

SNL
52A

HLT . ICLA CML RTR FAILED. AC AND

.

ILINK SHOULD BE zERO

IGROUP 1 OPERATE TEST 57

OLA CLL
TAD K5252 IACa5252 LINKSE

OLA CHL RTL ITEST COMBXNATION

TAU K7775

CMA

SNL

52A x,

HLT ICLA CML RTL FAILED. AC AND
»

ILINK SHOULD EQUAL zERO

IGRQUP 1 OPERATE TEST 56

OLA CLL IACQEEED LINKsO
ULL CML RAR

-

ITEST COMBINATION

HAL

52L

sga

HLT' IcLL CHL RAR FAILED AC SHOULD

IBE OOOO LINK SHOULO BE 1



@036

9&7
3m
Qflfii'
9342

@943

Qfififi

Efififi

Qfiflé

@flfi?

@393

UW?1

@633
@@§3

E@5§

@955

935$

EUDW

096$

flfléi

@362
@flbS

Ufléé

fifibi

7329

715a
7534

7630

?44@

74%?

73mg

7124

7a19

7559

7449

7432

732%

?124-

?Bl9

745$

744$

7492

73%E

7152
7906

7439

7449

7602
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luROUP 1 OPERATE TEST 59

CLA CLL CML /AC$@QBE LINKsi

ELL CML RAR /TEST COMBINATION
RAL

SE;
SZA

HLT
‘

ICLL CML RAR FAILED. AC SHOULD BE
_ lflflflflg LINK SHOULD BE A ONE

IQRQUP l OPERATE TESY 6%

CLA ch [ACEBQBB LINKga
GLL CHL»RAL ITEST COMBINATION
RAE .

52L
52A

‘

.

HLT IGLL CML RAL FAILED. AC SHOULD

IEQUAL 9889, LINK SHOULD BE ONE

ffiROUP ; QWERATE TESY 61

CLA CLL CML IACSBEEQ LlNKai
CLL'CML RAL' ITEST COMBINATION
RAB

53L

SEA ,

“LT ICLL CML RAL FAILED. AC SHOULD
IEGUAL Efiflflg LINK SHOULD BE ONE

IGROUP 1 OPERATE TEST_62
CL“ CLL‘ /AC§flBB@ LINKgfl
CLL‘CHLvRTR ITEST COMBINkTION

RTL

SlL

SEA

HLT ICLL CML RTR FAILED; AC SHOULD
/BE 0860: LINK SHOULD BE ONE



@966

_wm¢7

$979

0971
9972

$075»

@974

9%75

9976

@977

Elfifl

QIQL

@192
@393
Ulfifl

@135.

$396

@187

@110

9111‘
0112

@113

@1l4

@1;5

@116

@117

@120

0121

sane

3201
3202

32$3

3294

5205

3806

732%

7152
70%6

765%

7440

7402

759%

7126

7012
745%
7440

7S”?

7329

7126

7312

76$B
7§§fl

7492

73fifl

Ilfl§2
7339

7304

7630

7646

7402

780D

7EBE

7590

3290

7320
1053

7330

7004

7639
7449

7492
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/GROUP 1 OPERATE TEST 63

CL“ CLL CML IACEBEBB LINK-1
CLL CHL RTR ITEST CO"BIN‘TION

RTL

53L

SEA

HLT ICLL CML RTR FAILED. AC SHOULD
/BE 9606 LlNK SHOULD BE ONE.

[GROUP 1 OPERATE-TEST 64

OLA CLL: xAcaaaoa LINKao
CLLICHL RTL ITEST COMBINATION
urn .

52L
saa

HLT ,CLL CHg.RTL FAILED. ac SHOULD
/BE ammo. LINK SHOULD BE A ONE

xenon? 1 opsaavfi Test 65

CLA CLL.CML ‘IACSQEED LINKgI

g§§
GML RTL ITEST COMBINATION

SZLQ
$3;

HLT ICLL CML RTL FAILED. AC sflfiULD
IBE gaze. LINK SHOULD BE A ONE.

/GRQUP I OPERATE-TEST 66

OLA CLL

TAD K5252 IAC§5252.L!NK§0
GLA CLL;CML RAR ITEST COMBINATION
HAL

5EL~
.

sea .

HLT ICLA CLL on; RAR FAILED. AC SHOULD
xas mama. LINK suougo 8: ONE

N09

NOP

NOP

«SZDU

'IGROUP ; OPERATE TEST 67

CL‘ CLL CML
TAD K2525 IAngszs LINKaI
OLA CLL-CML RAR ITEST COMBINATION
RAL

52L
sza

HLT ICLA CLL CML RAR FAILED Ac SHoULD
IBE ammo. LINK SHOULD BE ONE .
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IUHUUP 1 OPERATE TEST 68

32u7 73mg CLA CLL
'

5213 1053 TAU K2525 /A032525 LINKzfl
5211 7324 ULA CLL CHL RAL /TEST COMBKNATION

3212 7a;0 RAH

5213 7450 SiL

seas 7a4a SEA

5215 7402 HLT lCLA cLL CML RAL FAILED Ac SHOULD

IBE anew. LINK suouga Bi ONE

IGROUP L QPERfiTE TEST 69

3&Aé 7320 ULA CQL CML
5237 1652 7&0 K52§2 IAC§5252 LiNKfii
322% 7326 CLA CLLVCML RAL iYEST CONSENAT!ON

3221 7519 RAH

5222 7¢$Q SEL

5223 7S49 Sifi

5226 7aw2 fiLT ICLA CLL CML RAL FAILED, AC SHOULD
-

. xgt @Qfifi Lxmx SHOULD BE A ONE

xuwoup 1 OPERATE TEST 7a

332$ 739$ OLA CLL
32%& 1353 T50 K2525 IACSZSZS LENK=9
522? 7352 OLA CLL CML RTR IVESY COMBINATXGN
ézég 7%96 RT

éaéi 7&36 5EL
6262 764% Sié

3253 76$? HLT iCLA CLL CML RTR FAlLED§ AC SHOULD
/BE @Efigq LINK SHOULD BE A ONE



SZéQ

326!

3356

5237

3249

5261‘
3392

3333

$36k

53$§

$356

32$?
335$

5353

$252

5335

533%

5235

$3?6

62??

326%

52b1
5262
32§3

5Zb6
5265

5266

$367
5270

$371

$272

5273

5214
5&75

33/6

3217

SSUZ

7329

1352
7332

7996

7630

7443

74%2

7390

1953
7326

7312
7639
764%

7&0?

732%

1552
732$

7312
745%
746%

7Qfi2

7399

1031

7041

7255

7040

7420

744a

7402

7390

1%55

7fl41

1556
7340

7420

7449

7402

IGHOUP

/GRQUP

IGRQUP

IGRQUP

IGRQUP

7/17/68 5812.22 PAGE 56

1 OPERAIL TEST 7;

OLA CLL CML
.

TAU K5252 IAC§5252 LXNK§1
OLA ch CnL RTR 715$? COMBINATION

‘

HTL

51L

52A

HLT iGLA ELL CML RTR FAILED, AC SHOULD

73E Emma, Lamx SHOULD BE A ONE

; OPERATE TEST 72

CLL CLA
TAU K252§ 7AC§2525 LINKsE
CL‘ CLL CML RTL [TEST COMBXNATEON

RTR

51L
52A
HLT IGLa ELL CM; RTL FAILED: Ac SHOULB

lgE gamma LXNK suougn BE A EERO

1 OSERATE YES? 73

ELL-OLA CML

TAU K5252 fAC§5252 LINKai
OLA CLL CML RTL iTEST CQHBINATXON
RTa

52L
52A

HLT [GLA CLL CHL RTL FAILEG, Ac SHOULQ
73E 0966, LINK sfiougo BE A ONE

1 OPERATE TEST 74

OLA CLL
TAD K7777 ITEST PATTERN

CIA IAC EQUALS‘Eflfli
TAU K7776

EMA

SNL

SEA 751A FAILEU AC SHOULD EauAL gaze

HLT ILINK SHOULD EQUAL A EERO

; OPERATE TEST 75

GLA CLL
TAD K7776 /TEST PATTERN

01A JAG EQUALS amaz

TAU K7775

CMA

SNL
sin 701A FAILED AC 3HougD EQUAL @902

HLT ZLINK SHOULD EQUAL A ZERO



35v;

3592
53%3

JJU‘

55U5

5596

'3597

5615

6511

3312

3513

33;4

33l§

5516

$517

3320

6521
6522‘

5525

3524

3525

‘5526

3527

5330

3561
5362

6353

'5564

5665-

55d6

5537

-564@--

73mm

1 63

7 41

1637

7042

7620
7443

7¢U2

73EE

1062

7341

‘104B
7040

‘7520

7440

7‘92

738%

1661

704;
1041
7349

7420

7440

7402

7309

1360

'7U41

1B4?

.7849

742%

7440

7402

7/17/68 5312.27 PAGE 57

JUHOUP 1 OPERATE TEST 76

CLA CLL
TAU K7774 ITEST PATTERN

01A IAC EDUALS 0954

TAO K7773

CHA

SNL -

SEA ICIA FAILED Ac sHOULD EQUAL ODUD

HLT ILINK SHOULD EQUAL zERO

/ORDUP 1 OPERATE TEST 77

OLA CLL
TAO K7770 ITEST PATTERN

01A /Ac EOUALS 001%
TAD K7767

CKA

sNL

52A

HLT ICIA FAILED Ac SHOULD EQUAL OOOD

IGROUP 1 OPERATE TEST 78

OLA cLL
TAU K7760 ITEST PATTERN

CIA /Ac EOUALS Oazu

TAO K7757

UNA

SNL
52A

HLT [CIA FAILED Ac SHOULD EQUAL OODO

ILINK SHOULD EQUAL ZERO

/UR0UP 1 OPERATE TEST 79

OLA CLL
TAU K7742 /TEST PATTERN

CIA
TAO K7767 IAC EQUALS U040

UNA
'

SNL
'

52A

HLT . ,CIA FATLED Ac SHOULD EQUAL ODDS
.

ILINK SHOULD EDUAL zERO



7/17/68 5l12.31 PAGE 58

IGRDUP l OPERATE TEST 8%

3541- 75wfi OLA CLL

5542 1976 TAD K7709 IVEST PATTERN
SJQS- 7941. Did IAC EQUALS 6:99

éééév 1643. ,

TAU K7677 ,

5&65 7aaw DNA

3346 7423 SNL

3547 7s¢9 SEA
33§0 7492‘ 'HLT 161A FAXLED A SHOULD EQUAL Baas

[LINK SHOULD EQUAL EERO

IGRDUP ; OPERATE TEST 81

$533. 7399 CLA CLL,
5352'.1fl57 TAD K7636 ITEST PATTERN

5553- 7fié1 31‘
-

IAC EQUALS $259

$554 '944 - TAD K7577

5555: $59 CHA

5359 7429 SNL

5557 7646
.

51h
ESéE 7‘92' ”LT [CIA FAILED AC SHOULD EQUAL flfififl

[LINK 3HOULD EQUAL EERO
A

IGRQUP ; OPERATE TEST'BZ
35é11 739E CLfi CLL‘

’

éfibz 19§6 TAD K7Qfi$ , lTESY PAYTERN
$3b3 704 CIA IAC EGUALS 9460

5594 1$fl§ TAD K7377
3565 7966* CMA

556$ 7620 ‘ SNL
3367 7446 S§A

$578 7402 HLT ICIA FAILED ‘8 SHOULD EQUAL 669$

ILXNK SHOULD EQUAL zeao‘



6371

5372

6573

6574

$575

6676

6677

3400

5401
3402

6403

3404

3405

3406

3407

3410

5411

4412

3413

5414

5415

3416

5417

$420

6421

6422

3423

6424

6425

$426

6427

6460

6461

3462
3453

5464

54éb

7000

7000

7000

7000

7000

7000

7000

5400

7300

1055

7041

1046

7040

7420

7440

7402

7300

1054

7041

1047

7040

7420

7440

7402

7300

1754

7041

195a
7940

7429

7440

74m2

7300

1020

{7041
7450

7420

7402

46400

/URUUP

IGROUP

IGRUUP

/URDUP

7/17/68 5312.34 PAGE 59

NDP

N09

NOP

NC?

NO?

NC?

~09

1 OPERATE TEST

OLA CLL
TAD K7000

CIA
TAU K6777

CMA

SNL
SEA

HLT

1 OPERAYE TEST

CLA CLL

TAU K6000

01A
IAU K5777

UNA

SNL

524

HLT

1 OPERATE TEST

OLA CLL
TAU K4000

CIA
TAU K3777

UNA

SNL
52A

aLT

1 OPERAYE TEST

CLA CLL

TAU K0000

CIA
SNA

SNL

HLT

83

[TEST PATTERN

/AC EQUALS 1000

ICIA FAILED AC SHOULD EQUAL mama

lLlNK SHOULD EQUAL iERO

34

ITEST PATTERN

[AC EQUALS 2000

,01A FAILED AC SHOULD EQUAL amen

ILINK SHOULD EQUAL ZERO

85

ITEST PATTERN

IAC EQUALS 4000

/CIA FALED AC SHOULD EQUUA 000

ILINK SHOULD EDUALL ZERO

86 »

ITEST PATTERN

[AC EQUALS 0000, LINK EQUALS A ONE

ICIA FAILED AC SHOULD EQUAL 0000

lLINK SHOULD EQUAL A ONE



5‘56

6467

60¢!

5‘41
54¢!

5443

5¢4¢

aa¢s

34‘s

4d47

3153

at»;
5‘92

3‘?!

349‘

6‘55

Jibb

6657

5463

5461
5462

6.65

3464

6465

6566

.6467

5‘79

3‘71
3‘72

é‘73

6474

7349

7311
743!

7446

7492

7369

7395

7‘}!

7‘62

7'41

1622

7440

7432

7325

, 7313
7430

7402

7509

74U2

7360

73U7

7‘30

74%?

7541

1023

7446

7492

73MB

7331

7529

7492

IGROUP

7/17/68 5512.39 PAGE 60

QPLRATE TEST 87

ULA CMA CLL /AC§7777;L=0

CLA CLL [AC RAR IAC§flpL=1
SiL
SiA

HLT [ERRORI LING NOT SE7 0

IAC NOT E ~

IGROUP 1 OPERATE TEST 88,

IGROUP

lfiHOUP

IDRUUP

ULA CHA CLL CML IACQ7777gLs1
CLA CLL lac RAL /AC§2.L=B

szL

HLT IERRORI LING NOT a

CHA XAC
TAU KEBBZ

SEA

HLT
.

IERROR AC NoTsz

1 OPERATE TEST 89

CLA CLL.CHL /AC§%.L:1

CLA CLL [AC RTR /AC$49@0.L=9
52L

HLT IERRoRs LENc NOT a

SMA

”LT IERROR; AC NOT 409%

1 OPERATE TEST 9%

OLA CMA CLL CML /Ac=7777.L=1
OLA CLL IAC RTL /AC=4.L1Nc=m
szg

HLT IERRDRS LINC NOT a

DNA IAC

TAU Kazn4

sea

HLT IERRDRs AC NOT 4

1 OQERATE TEST 91

CLA CLL /Ac;0, L=a
CLA CLL CHL IAC RAR IAC=40@9. Léx

SMA SNL

”L7 /ERROR5 AC NOT 4flfl0 0R

ILINC NOT 1



7/17/68 5312,44 PAGE 61

/GROUP ; OPERATE TEST 92

$475 7390 9L; cLL IAcfiflpLsfl
gaya 7345 CLA CMA CLL IAC RAL IAC=@@@;,L=0
3477 7459 SEL
559% 7492 HLT /LINC NQTsfl

35E1 7E41 ~ CMA IAC

$992 1fl21 TAD Kflflwi

55w3- 7440 $23

33mg 7422 HLT IAC NOT flaw;

IGRQUP l OPERATE TEST 93

SDES 7369 $LA CMA CLL CML . IAC§7777.L31
55wé 7373.

.

c A C.A c 6 AC RTR IACga, =n

33w? 7440
'

sfin
M LL ML 1

-

L

351% 74$? HLT
'

IERRORfi

531;. 743% SEL

5312. 7492 ‘

_

HLT IERRORI



5913
5514

5515

3510

5517

3529
3921
3:22

592:

5324

3525

$525

5527
5555

3531

3:52

5353

6556

5:65

éfiés

72d0

7793

7492

7‘40

7492

72.9
7645

7445

7GB?

724a

7540

7462

72mg

7540

7402

7293

1950

7540

.7450
74w2

IGROUP

/GROUP 2 OPERATE TEST 2

IGROUP

IGRDUP

[GROUP

7/17/68 5112,46 PAGE 62

2 OPERATE TEST 1

OLA CHA

CLA SHA

HLT

51‘

HLT

CLA CHA

OLA SEA

Sit

HLT

2 OPERATE TEST 3

CLA CHA

SMA SEA

HLT

2 OPERATE TEST ¢

CL“ a

SHh 52A

ML?

2 OPERATE TEST 5

cg;
TAU K3777

SMA 52A

SNA

HLT

/AC!7777 -

ITEST COMBINATION

ch‘ SHA DID NOT SKIP
IAC SHOULD BE BBIO

ICLA SHA ozo NOT-CLEAR AC
IAC SHOULD a: sale

IACI7777 »

ITEST COHBTN‘TTO

.IGLA 51A SKIPPEO DR AC NOT

ICLEARED T0 “GEO

IAC!7777

[TEST COMBIN‘TION
ISNA SEA SHOULD_HAVE SKEPPEO
[AC SHOULD EQUAL 7777

IACQBBBB .

/TEST COMBINATION

ISHA SEA SHOULD HAVE SKIPPEO
IAC SHOULD EQUAL BEBE

IACl3777

ITEST COMBINATION

ISHA 52A SHOULD ~07 HAVE SKPPED
IAC SHOULD EQUAL 3777



5357

5949

¢941

5942
3943

5344

5545

3546

6567

5593

$951
3552

3953

3354

3555

6956

5357

5969

sac;

3562

7249

7740

7492

744%

7flb2

72mm

7749

7492

7446

7402

72mm
labz

774%

744%

7402

7300

1952

7620

7443

7492

IGROUP

lfiROUP

IGRQUP

/5ROUP

7/17/68 5512.49 PAGE 63

2 OPERATE TEST 6

CLA CMA

CL“ SMA SZA

HLT

SEA

HEY

2 OPERATE TEST 7

OLA
'

ULA SMA 52A

HLT

52A

”LT

2 OPERATE TEST 8

GLA
TAU K3777

CLA SMA 52A
SEA

HLT

2 OPERATE TEST 9

ULL CLA

TAU K5252

ULA SNL

SZA

HLT

1AC;7777

ITEST COMBINATION

/CLA SMA SiA SHOULD HAVE SKgPPEQ
/AC SHOULD SE @662

xnc HAS NOT CLEARED

1A0 SHOULD BE @zmw

IAC§BEEQ

“ITEST COMBINATION
-

ICLA SHA SEA SHOULD HAVE SKEPPED

IAC SHOULD BE 966%

IAC HAS NOT CLEARED
IAC SHOULD BE UQEQ

IAC§3777

ITEST COMBINAy10N

,SMA 52A 010 N07 axis OR AC

/NOT CLEAREQ To gaze

ILINkzfi
/AC§9252

ITEST COMBINATION

ISNL SKIPPED 0R AC NOT CLEARED
IAC AND EINK SHOULD EQUAL ZERO



3593

35b4

3555

6966

5597

5570

3571
3572
3573

5574

5575

3976
5577

5690

éfifil
36$?

36fl3

5604
3695

$666

ééfl7-

732

1359
7620

7‘92

7460

74%?

,7399

7520

74¢E

74E2

732%
7529

7402

7300

1934
7520

7402

7320

1554
7520

7Qfl2

/UROUP

/GROUP

[GROUP

IGROUP

/$ROUP

7/17/68 5§12.53 PAGE 64

2 OPERATE TEST
Cl.A CLL CML

TAD K2525

ULA SNL

.

HLT

StA

HLT

2 OPERATE TEST
CLA cg;
SMA SNL

SEA

”LI

2 OPERATE TEST

ULA CkL CML
SMA SNL
HLT

2 OPERATE TEST
CLA CLL
TAU KQBQU

SMA SNL

HLT

2 OPERATE TEST

CL“ CLL CML
TAU K4608

SMA SNL

HLT

1%

IAC82525 LINK=1
/TEST COMBINATION

ISNL DID NOT SKIP
/L!NK SHOULD EQUAL ONE

/CLA SNL DID NOT CLEAR AC

‘IAC SHOULD EQUAL @092.

11

IACEEQGB LINKzfl
[TEST COMBINATION

ISMA SNL SKIPPED. AC AND LINK

ISHQULD EQUAL EERO
12

/AC§0099 LINKE1
ITEST COMBINATION

ISNL SHOULD HAVE SKIPPED. LINK
13

'

xac94gag LlNK=fl
xresv comaxwarxow

ISMA SHOULD HAVE SKIPPED
/Acaamma

14

lACgfiflflfi LlNK=1
[TEST COMBINATION

ISMA SNL SHOULD HAVE SKIPPED
/AC§4900 LINK¥1

1



6633

5311
$532

3513

55$“

3535

50;6

35;7
532$

3&81
3632

OOZS
JOBO

3625

3626

3627

JOOO

5651

3552

3663

$664

3665

5636

30é7

6649

3641‘
6642

73mm

7729

7449

74O2

7320

7720

7402

7449

7&92

7390

$036

772%
74MB

7449

7432

732%

1934

7729

74%2

744%

7492

7390

7660

74U2

732%

7469

7492

lGRDUP

IGROUP

/§RQUP

IGROUP

{GROUP

/GHDUP

7/17/68 5812.57 PAGE 65

2 OPERATE TEST 15

OLA CLL IACBOOOO LINK=O
OLA SHA SNL ITEST COMBINATION
52A

HLT /$NA SNL SKIPPED. AC AND LINK

ISHOULO BE ZERO
2 OPERATE TEST 16

c A c L c IACEOOOO IN #1

Chi S A SN" ITEST CDMB‘NA ION

HLT /SNL SHOULD HAVE SKIPPED
,

ILINKOI
53A I

HLT IGLA SMA SNL DID NOT CLEAR AC
‘

IAC SHOULD EQUAL ZERO

2_OP£RATE TEST 17

GLA CLL
TAD KOOOO /AcuaOOO LINKse

OLA SMA SNL ITEST COMBINATION

HLT ISMA SHOULD HAVE 5K PPED

EA

IAC SHOULD EQUAL 00 fl. LINKsB
s I

HLI /CLA SMA SNL DID NOT CLEAR AC

IAC SHOULQ EGU‘L OBOE

2 OPERATE TEST 18

CLA CLL CML
TAD KQOOO . IAC§4300 LINKxi
GLA SMA SNL ITEST COMBINATION

HLT /cLA“SNA SNL sHOULD HAVE SKIPPEO
IAC SHOULD BE OBOE LINKai

SEA

HLT ICLA SMA SNL DID NOT CLEAR AC

/AC SHOULD BE 6039 LINKFL
2 OPERATE TEST 19

OLA CLL IACEOOOO LINKgO
SEA SNL ITEST COMBINATION
HLT xszA SNL DID NOT SKIP

IAOsOOOO

2 OPERATE TEST 29

CLL OLA CML /AC:OOOO LINK=1
SZA SNL ITEST COMBINATION
HLT /szA SNL DID NOT sxxp

IACEOOOO LINK‘l



6043

5644_

6545

$646

6647

5599

6693
5652

5053'
6556

$690

$531
SOOZ

$093

6604

5605

Sbflb

36$7

661a

6611

30;2

$6;3

3616
3615

dblfi

6617

5529

5621

5622

$623

3624

5625

6626

3627

666%

73OO

lfiéi

[AGO

7459

7AM?

7900

7000
7000

7090

7009

5699

7329

1026
7469

7AO2'

7399

766%

7602

7440

7692

732%

7669

7492

,7449

7492

7320

1059

7660

7402

7440

7492

73OO

1053

I669

744%

7492

IGHOUP

*56OO

IGROUP

lGROUP

/GROUP

/GROUP

/GROUP

7/17/68 5813.2 PAGE 66

2 OPERATE TEST

OLA CLL
‘

TAD KDAOO

52‘ SNL

SNA

”LT

N0?

N09

N09

N09
N09

2 OPERAYE TEST
CLA CLL can
TAD KOOéO

SZA SNL
HLT

2 OPERATE TEST 2

cLA cLL

GLA 52A SNL
mgr

SZA

HLT

2 OPERATE TEST
CLA CLL CML

CLA SEA SNL

Hg:

52A

HLT

2 OPERATE TEST
ULA CLL CML
TAD KOZDO

OLA SEA SNL
HLT

SEA
NLT

2 OPERATE TEST
CLA CLL

TAD K2000

CLA SEA SNL
StA

HLT

21

‘

IACsw4uz LINK=O

xtzsr COMBINATION

1

ISZA SNL sxzppzo
/AC§BAOO LINKED

22~

IACQOOAO LINKaa
ITEST COMBINATION

ISZA SNL SHOULD HAVE SKIPPED

3ILINKH
IACEOOOO LINK“O

ITEST COMBINATION
_

ICLA SEA SNL SHOULD HAVE SKIPPED
IAC AND LINK SHOULD EQUAL EERO

ICLA SEA SNL DID NOT CLEAR AC

,Ac SHOULD BE man»

24

IACEOOOO LINKsl
xtzst COMBINATION

‘

ICLA SZA SNL SHougD HAVE SKIPPED
IAC!GBOO LINKS:

ICLA SZA SNL DID NOT CLEAR AC

/AC SHOULD EQUAL 0000

25

IAC=02OQ LINK=1

ITEST COMBINATION 0R

ICLA SZA SNL sHoULD HAVE SKIPPED
ILINKzi

[CLA SZA SNL DID NOT CLEAR AC

/AC SHOULD EQUAL MODE

26

lAC=ZDDO LINK=O

ITEST COMBINATION

ICLA SZA SNL FAILED. AC AND

ILlNK SHOULD EQUAL ZERO



5051
6652

5653

5664

5665

sass

5657

>é649

$541

$542
5643

3644

6645

éb$6

5647
5690

73UE

7560

74U2

7320

195%
7560

7®62

73wfl

1054

7566

74E2'

73D0

lfififl

7500

745%

74fl2

7/17/68 5313.7 PAGE 67

lGRUUP 2 OPERATL TEST 27

OLA CLL IAC=EEBQ LxNK=O
SNA SZA SNL ITEST COMBINATION

HLT ISMA 82A SNL SHOULD HAVE SKIPPED
,

xAc;OOOO LINK=E
/ONOUP 2 OPERATE TEST 28

'CLA CLL CML

TAD K3777 IAC=3777 L1NK=1
SMA SEA SNL ITEST COMBINATION

”LT
_

lSMA 52A SNL SHOULD HAVE SK1PPED

lAC§3777 LINK‘1
/GROUP 2 OPERATE TEST 29

CLA CLL
TAD N4OOO lACsdflMfl LINK=O
SMA SZA SNL ITEST COMB£NAT10N

HLT /5MA 52A SNL SHOULD HAVE SKIPPED
IAtfidfiflfl LINK=fl

-

/GRDUP 2 OPERATE TEST an

“L“ CLL
TAD K5777 IAC;3777 L1NK=O
SMA SEA SNL

'

ITEST COMBINATION
SNA

HLT ISMA SZA SNL SHOULD N0? HAVE

stgppao. ACES??? LINK=O



7/17/68 5813.1fl PAGE 68

IGROUP 2 OPLRATE TEST $1
665: 7sw9 uLA CLL . xaczaaem LINK=Q
$672 776%

'

OLA SMA 32A SNL 71:37 coneINAYION
5693 7402

‘

HLT IGLA SMA 32A SN; 8H0 g0 HAVE SKXPPED
-

77c saougu EQUAL wgag
5554 744a SZA' V

_

5675 74M2 NLT IAC NOT EERO AFTER QLA SMA 32A SNL

IAC SHOULD BE flfiflfi LiNKfiE
IGROUP 2 OPERATE TEST 32

56:6 7327 5&3 CLL CML
55:7 1759 . TAD K5777 iACsE777, L3NK:1
ébbfi 77am

»

ska SMA SEA SNL 77557 CQNBENAYXON
see: 7492 Hg? ifiLfi SMA 52A SNL 013 N97 SKIP
J

IAC swouga BE gang LENK3;
5662 7449 sea

aaas 7492 . Hg? ICLA SMA SEA SNL DID N07 GLEAR Ac

*- 7AC SHOULD EfiuAL @683 LXNK$1
quQUP 2 OPERATE 7E3? 33

565$ 7swa ULA CLL
V

-

$6©57 1754 TAU Kagmw ransaamm szxag
§5°6 779” Uta SMA 32A SNL 71237 COMBENATEQN
5667 74mg HgT IQLA sag 37A SNL SHOULD HAVE sxgppaa

IAC SHeugo BE mafia. LINKSB
»

$613 7449
»

SEA

$571 74”? ML? ICLA SMA 37A SNL 010 N07 CLEAR AC

lAC SHOUkD EQUAL flfiflfi

iuRDUP 2 UPERAYE TEST 34 »

$572 75mg
'

,

cga CLL

4573 lfibfi TAD K3777 , 7AC=3777 szxsw
5574 77am CLA SMA SEA SNL vasv COMBINATION
56/5 7449 SiA

'

5376 7402 . HLT ICLA SMA 52A SN; FAzLEDg AC

[SHOULD BE ZERO; LINKzfi
IUROUP 2 OPERATE TEST 55

$677 73ua cga CLL {ACSfiflflfl LxNK=Q
$I$E 741% SKP 77557 INSTR CTION

57m1 74w2 Hg? ISKéP FALLE
[AC AND LINK EQUAL ZERO

lUROUP 2 DPhRATt TEST 36

5/72 7329 OLA CLL CML IAC=GGQE Lgmle
52w; 7410 5“? /TEST INSTRUCTION
szea 74mg HLT /SKIP FAILED

IACSEEQM LINK=1



67fi5

5706

57E7

671%

371
321%
3713

5711

3715

6716

37:7

3722

372;

6722

$723
5724

6725

$726
6727

576%

6761

6762

67d3

6764

3765

$756

7320

195%

7410
74D2

7390

lfibfl

741%

7403

7236

$09”

7719

7492

744%

74w2

72flfi

1034

771%
7440

7492

7240

7650

7492

7203

7659

744B

74%?
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IGROUP 2 OPERATE TEST 37

OLA CLL CHL

TAD K3777
SKP

HLT

IGROUP 2 OPERATE 1557

CL“ CLL‘
TAD K3777

SKP

HLT

IGRQUP 2 OPERATE TEST

LLA

TAU K3777

CLA SPA

HUT

SEA

“LT

IGROUP 2 OPERATE TEST

CLA
TAD KAEUM

CLA SPA

52A

HLT

IBROUP 2 OPERATE TEST

ch CMA

U A SNA
H T

IGROUP 2 OPERATE TEST

CLA

CLA SNA

SiA

HLT

IAC83777 LINK=1
ITEST INSTRUCTION
/$KIP FAILED
[ACSS777 LINK31

38

IAC=3777 LINK=E
ITEST INSTRUCTION

ISKIP FAILED
/A083777 LINKFQ

39

/AC33777

ITEST COMBINATION
ICLA SPA DID NOT SKIP: AC

/SHOULD BE zERo

ICLA SPA DID NOT CLEAR Ac
IAC SHOULD EQUAL ZERB

4w

/AC§GEUE

/TEST COMBINATION

ICLA SPA FAILED, AC SHOULD
/EQUAL even

41

[ACE7777
ITEST COMBINATgoN

/AC SHOULD BE 990

42

lACQEEUB

ITEST COMBINATION

,CLA SNA anLED
/AC SHOULD EQUAL meme



3757
6740

5741
6742

5743

5744

$705
6746

3747

37b0

s79
31:

$753

5756

5755

3756

3757

$700

$701
6702

6763

$764
5765

6766

6707

6770

6771
6/72

3/73

6774

5775

6776

5777

7200
7550

7440

7402

7200

1050

75b0

7602

7200

1054
7550

7450

7602

7200

7750

7440

7402

7200

1050
7750

7402

744a

7402

7200

1054

7750

7440

7402

7000

7000

7000

7000

7000

4000
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/GRDUP 2 ORERATE TEST 43

CLA
SPA

SiA

HLT

SNA

/GROUP 2 OPERATE TEST

CLA
TAD

SPA

HLT

K3777
SNA

/GROUP.2 OPERATE TEST

cga
TAD

SPA

SNA

HLT

K4000

SNA

/GROUP 2 OPERATE TEST
u A

at;
52A

HLI

lfiROUP 2 OPERATE TEST 4

ULA
TAD

OLA

HLT

SEA

”LT

CLA

TAU

”CLA
SZA

HLT

NOP

NUP

NOP

NOP

N0?

*4000

PAUSE

SPA SNA

5777

gPA SNA

-

/UROUP 2 ORERATE TEST

K4000

SPA SNA

[AC30000
ITEST COMBINATXON (AND)

/SPA SNA SK1PPED
IAC=0000

44

IAC=3777

ITEST COMBINAT(ON (AND)

ISPA SNA FAILED Y0 SKIP
IAC§3777

45

IAC34000

ITEST COMBINATION (AND)

ISPA SNA SKXPPED,
/AC§4000

46

IACS0000

ITEST COMBINATION (AND)

ICLA SPA SNA FAILED.
/AC SHOULD BE 0000

7

IAC=3777

ITEST COMBINATION (AND)

ICLA SPA SNA DID NOT SKIP
IAC SHOULD BE mama

ICLA SPA SNA DID NOT CLEAR THE AC

/AC SHOULD EQUAL @396

48

.

IAC=4000

ITEST COMBINATION (AND)

ICLA SPA SNA.FA1LED
/AC SHOULD EQUAL ZERO



UUCC

HUD;
U092

flflfiS

Efiwfi

9925

”WU6

wflfi7

$913

”$11

””12

B$;3
@214

”$15

9&16

”#17

$022

UW21

M022

”$23

@024

9025

M226

9927

Mfléfi

UUJi

U052

U363

Uflé4

U055

M066

Cami

73MB

1032

7639

74%2

7449

7402

7360'
765%

744%

7492

75%fi

169%

156%

7402

7329

135%

75$6

7456

74D2

759%

1054

753O7
75fifi

7402

73MB

10?”

773%»

7402

7440

7492
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E*U*1

IINSTRUCTION TEST - TAPE_4

IUROUP 2 OPE ATE TEST 49

LLULA

TAU K5252
‘

IAC=5252 LzNKSE

OLA 82L ITEST COHBXNATION

mgr ICLA 32L DID NOT SKIP
-

iAC AND LINK SHOUCD HE @

SEA

HLT ICLA SEL 010 NOT CLEAR AC

, ,AC SHOULD BE ZERO. LINK=O

IBROUP 2 OPERATE TEST 5%

CL5 CLL CML CNA./AC37777 LINK=1
’CLA SEL IVEST COMBXNATION (AND)

52A .

”LT ICLA 52L FAILED, AC SHOULQ

IBE OOOO. Lngsl
xCROUP 2 OPERATE TEST 5;

CLA CLL

TAU K3777
‘ IAC§3777 L1NK=E

SPA 82L /TEST COMBINATXON (AND)

”LT ISPA SEL 010 NOT SKIP
/AC=3777 L;NK=O

/UROUP 2 OPERATE TEST :2

OLA CLL CML

TAU Ké777 ‘ IAC=5777 LINK‘l
EPA SiL {TEST COMBINAT!DN (AND)

SNA
HLY ISPA SZL SKIPP£D

/AC=3777 LiNK=1

IGRUUH 2 OPERATL TEST 53

CLA CLL

IAU K4flflfl IACSAEDQ LINKVQ
SPA 82L [TEST COMBINATloN (AND)

bMA
.

HLT . iSPA SZL SKIPPED

_/AC=4OOO L1NK=O
/GROUP 2 OPERATE TEST 54

OLA CLL

TAO K3777
_

/AC=3777 L1NK=0
ULA SPA SZL ITEST COMBINATION (AND)

HLT /CLA SPA SZL SHOULD HAVE SKIPPEO
. IAC SHOULD BE OOOO. LINng;

52A 1

:

HLT
.,

/CLA SPA SZL DID NOT CLEAR THE AC

IAC SHOULD SE @809
_

-



9367

9040

9941
9942

HU‘J>

U344

M945

.9946

9947

'Uflbfl

Bflbl
@392

”$98

”$56

9&95

Bafifi
@957

@959

Own;

9062

”063

Mflbd

9&65

9666

@657

”070-
an)

M07

7320

155%
7750

744a
7402

.73%0
1056

.7739

7443

7492

73MB

1054

7670

7432

732%

1934

7470

7423

74E2

73UB

7470

7469
7402

7329
1954

767%

7440

74M2

,UROUP

IGRDUP

/5ROUP

IGROUP

IGRUUP 2 OPERATL TEST

IUROUP
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2 OPERAYE TEST 55

OLA
TAU

CLA
52A

ng

2 OPERATE TEST

OLA

TAU
CLA
SEA

"LT

2 OPERATE TEST
CLA
TAU

SNA

HLT

2 OPERATE TEST

CLA

TAU

SNA

SNL

HLT

ch
SNA

SiL

HLT

2 OPERATE TEST

ULA
TAD

ch
StA

HLT

CLL CML
K3777

SPA SZL

CLL
K49Ufi

SPA SZL

CLL
K4flww

SZL

CLL CML

K4000

SZL

CLL

SZL

»CLL CML
Kéfiflfl

SNA.SZL

-

IAC=3777 LINK=1
ITEST COMBINATION (AND)~

ICLA SPA SZL FAxLED
/AC SHOULD EQUAL OOOO LINKai

56 .

lACaQEBB LINK=0

ITEST COMBINATION (AND)

/CLA SPA 31L FAILED

IAC SHOULD EQUAL 0600 LINKSB

57

/AC=4@@0 LINKzfl

ITEST COMBINATION (AND)
stA 52 010 ~07 SKlP
IAC = 4 OO L1NK=E

58

[AC34QUE LENK=1
ITEST COMBINATiON (AND)

ISNA 32L SKIPPED
IACe4BBE LINK=1

59

/Ac;OOOO L1~K=O
xrssr COMBlNATION (AND)

ISNA 52L SKIPPED
IACSBQBE LINK=Q

69

/AC=4OEO LINK=1

/TEST COMBINATION (AND)

ICLA SNA 32L FAILED. AC SHOULD
/BE OOOO. LINK=1



9973

99/4

9975

9976

9977

9199

9191

9192

9193

939‘

9195

9196

9197

9119

911$
9112

9113

9114

9115

9116

9117

9129

9121

9122

9126

9124

9125

9126

7399

1954
7679

7492

7449

7492

7399

7679
7449

7492

7399

1959
7579

7492

7329

1959

7579

7429

7492

7399

7579

7959

7492

7399

1954

7579

7469

7492
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/GROUP 2 OPERATE TEST

CLA CLL
TAD K4999

CLA SNA SZL
HLT

SEA

HLT

/GRDUP 2 OPERATE TEST

CLA CLL

CLA SNA SEL-
SZA

HLT

/GROUP 2 OPERATE vEST

OLA CLL
TAD K3777
SPA SNA 32L

HLT

IDHOUP 2 OPERATE TEST
OLA CLL CML
TAU K3777

SPA SNA 32L

'SNL

HLT

IGROUP 2 OPERATE TEST

CLA CLL
SPA SNA 32L

57L

HLT

/URDUP 2 DPERAYE TEST

CLA CLL

TAD K4999

SPA SNA 32L
StL

HLT

61

/AC=4099 LINK'O

/TEST COMBIN‘YION (AND)

ICLA SNA SEL DID NOT SKIP
IAC SHOULD BE 9999. LINK=9

/CLA SNA SiL DID NOT CLEAR AC

IAC AND LINK SHOULD BE EERO

62

~/ACEOOOO LlNK‘O
ITEST COMBINATION (AND)

ICLA SNA SZL FAILED. AC SHOULD

[BE 9999. LINKSO
63

/Aces777 LINK-0
»/TESY COMBINAYION (AND)

ISPA SNA SEL 010 NOT SKIP
IAC§3777 LINK=O

b4

lac43777 LINK31
xrasv COMBINATION (AND)

iSPA SNA 32L SKIPPED
/AC§3777 L1~K=1

65

xAc;za@@ LINK=O
,

ITEST COMBINATION (AND)

/SPA SNA SEL SKIPPED
/AC=OOOO L1~K=a

66

IAC=4B90 LINK=D
ITEST COMBINATION (AND)

ISPA SNA SZL SKIPPED
/AC=4999 LINK=9
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IGROUP 2 OPERATE TEST 67

$127 73wm CLA CLL‘ .

@169 1050 TAU K3777 /AC!3777 LINKIZ

”1&4 77in CLA SPA SNA 52L ITESY COHBINATION (AND)

9152 7492 HLY /CLA SPA SNA SZL DID NOT SKIP
IAC AND LINK SHOULD BE zERo

$153 7449 Sit

9164 74m2 HLT [CLA SPA SNA 52L 010 NOT CLEAR AC

/AC AND LINK SHOULD BE lERO

[GROUP 2 OPERATE TEST 68

@155" 7320
, cL. cLL'cHL_

@156 1259 . TAD K3777 IA §3777 LlNKa:

w;a7 7770 cLA SPA SNA SZL 7755? came NATION (AND)
9149 744a SZA

9143: 74a2
_

HLT IGLA SPA sun 52L FAILED. AC SHOULD
[BE 8099: LINK SHOULD EQUAL ONE

IGRDUP 2 OPERATE TEST 69

@162 ?309 OLA ELL; .

.wlfifi 1%36 TAD K4699 IACSAUEB LINKIQ
”13$ 77/0 CLA SPA SNA 52L ITEST COMBINATION (AND)
filfifi 7449 52A

$146 7492 HLT ICLA SPA SNA 52L FAILED, AC SHOULD
7 /BE 9356: LINK SHOULD EQUAL EERO

'

‘

'/§RQUP 2 OPERATE TEST 7%

0147 73am CLA CLL IACFEEEB LINKgfl
019% 777% GLA SPA SNA 52L ITEST COMBINATION (AND)
M191. 7449 32A

”192 7492 ”LT ICLA SPA SNA SZL FAILED, AC AND

ILINK SHOULD BE ZERO:
IGROUP 2 OPERATE TEST 71

@153 7207 GLA
91:4 1952‘2 7A0 K5252 xac=5252
01:5 76w4 t CLA OSR /TEST COMBINATION
$196 754% ; cna .

@157 7449 ; .

sza

M160 37402' HLT ICLA OSR FAILED
*»J=

’

’

IAC SHOULD BE wane



9161
9162

9163

9164

9165
9166

9167

9179

9171

9172

9173

9174

91/5

9176

9177

9299

4299

'4zw1
4292

4293
azva

4aw5

4296
4d97

42;?

4211

4Z1?

4213

4214

4215

4416

4217

4&29

4221

4422

“£25

7299

1964

7594

7492

794$

744a

7492

7299
7444

74a2

7949

7449

7492

7999

7999

7999

4299

7329

7424

7492

7a4o

7449

7492

7399
1999
7764

7439

7492

7049

744a

7492

7299

7414

7492

7349

744a

74m2

leQUP 2 OPERATE TEST 72

OLA

TAD

SMA

'HLT

CMA

SiA

HLY

IGRQUP 2 OPERATE TEST 73

ULA
SZA

“LT

CMA

SEA

"LT

NOP

NUP

NOP

54299

lGRUUP 2 OpfiRATE TEST 74

QLL CML CLA
SNL

HLT

CMA

SEA

HLT

[GROUP 2 OPERATE TEST 75

ULA

TAD K5777

ULA SMA SEA SNL OSR

SNA

HQT

CMA

St“

HLT

leUUP 2 UPtRATt TEST 76

LLA

5K9
HLV

UMA

5th

HLI

K4999

OSR

OSR

08R

CLL

08R
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IAC=4999

/TEST COMBINATION

ISMA OSR FAILED Y0 SKIP
IAC SHOULD BE 7777

ISMA OSR FAILED
IAC SHOULD BE 9689

/AC39999

ITEST COMBINflTION
ISZA 05R FAILED T0 SKIP
[AC SHOULD BE 9999

ISZA 05R FAILED;
[AC SHOULD BE 9099

IL!NK=1

ITESY CUMBINAYION

ISNL 05R FA§LED T0 SKIP
IAC SHOULD BE 7777

ISNL 03R FAILED,
IAC SHOULD BE mane

IAC=3777 LENKzg
thST COMBINATION

ICLA SMA 32A SNL 08R FALLED,
IAC SHGULD BE 7777, LINK=E

ICLA SMA SiA SNL 05R FAILED
IAC SHOULD EQUAL iEHO

IAC=@m@@

IYEST COM81NAT!ON

ISKP Us 010 NOT SKIP
IAC 3H0 LU BE 7777

ISKP 08R FAILED

IAC SHOUHD EQUAL iERO



4224

4225

4326

4227

4247

425;

4252

4263
4364

4255

4256

4£67

4240

424;
4242

4243

4244

4245

4246

4247

4250

42:;
4252

4293

4254

4255

729%

7514
7402

7340

744B

74%?

7290

133%
7454

74fl2

7340

7449

7402

7300'

7464

7402

7749
744a
74fi2

73DD

1250
7774

74D2

724%

7440

7472
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/GROUP 2 OPERATE VEST 77

OLA /AC;OBOE
-

SPA oSR /T£SY COMB NAT10N
HLT ISPA 05R 0 D 0? SKIp

IAC SHOULD EQUAL 7777

CMA
-

52A

HLT ISPA OSR FAxgED,
IAC SHOULD BE DDDD'

/GROUP 2 OPERATE TEST 78 '

CLA
TAU Kfléflfi /Angaaa

SNA OSR 77E87 COMBINATION

mgr
'

ISNA DSR 010 NOT SKIP
IAC SHOULD BE 7777

cna

52A V

qu ISNA osn FAILED
IAC SHOULD BE DEED

IGRDUP 2 OPERATE T557 79

CEA Cgh
/ x~ an Asymmea

S L.O
' 775$ COMBIN‘TIDN

"LT ISZL DSR DID NOT SKIP

IAC SHOULD BE 7777

CMA

52A
HLT /82L OSR FAILED

IAC SHOULD BE MODE

/GRDUP 2 OPERATE TEST 8%

CLA CLL
TAD K3777 IAC=3777 LINK=D
CLA SPA SNA 52L 05R ITEST COHBINATION (AND)

HgT IABDVE MESS DID NOT SKIP

IAC SHOULD BE 7777

CMA

SiA

HLY ICLA SPA SNA SZL DSR FAILED
IAC SHOULD BE ”ODD



42:6

4497

44b0

4£b1

4262

4263

4264

4265

4366
4267

42/9

QZVI

4&7?

4275

4274~

4d]5

4276

4d77

45B@

4501

4502

4595

«sea

45U5

4swb

4697

4510

720%

@091

7640

74%?

7240

@329

744%

74fi2

732%
1651

@991

7346

7430

7440

7462

7300

1035

UflDZ

7426

7449

7492

739%

1852

@553
7420

744a

74%2

/ANU

/ANU

/ANU

/ANU

/ANU

TEST 1

CLA
ANU

SiA

HLT

TEST 2

ULA

AND

sin

Hg?

was: é

CLA

TAD

ANU

UNA

sag
SiA

”LT

TESI 4

ch
TAD

AND

SNL

Sta

HLI

TEST 9

OLA
TAD

ANu

SNg
51A

HLT

K7777

CMA

Kfiflflw

CLL CML

K7777

K7777

CLL
K2525

K5252

CLL
K5252

K2525
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,ANU FAILED AC SHOULD
IBE 096%

xANu FAILED
lAC SHOULD EQUAL @flflfl

IAC=7777 LINK=1

xAND FAILED. Ac SHOULD 55

/fi@@flg LINK SHOUkD EQUAL ONE

IACSZSZS LINKQE

/ANU FAILED, AC SHOULD BE

xmmmeg LINK SHOuLD as @

/AC=5252 LlNK=m

IANU FAILED, AC SHOULD BE

xmema. LINK SHOULD BE a



451;
4512

4515

4534

4515

4515
4517

4520

4521
4522
4525

4524

4525

4525

4527

4550

455;
4552
4553

4554

4555

4666

4567

454a

4541

4542

4545

4544

4545

4545

4547

4593.

4651
4632

InERE ARE 6 ERRORS

7300

1065

0052

7041

1052
7460

7440

7402

7300

1053
0053

7041

1053

7460

7440

7402

7200

1351

7001

3351

1351

7640

5147

1352

6351

1330
6046

6041
5344

6042

5147

0207

7600

7600

7/17/68 5313.56
'

PAGE 78

IAND TEST 5

ULA CLL
TAD K7776

ANU K5252

c145
IAU K5252

sag
sen

“LT

iANU TEST /

0L4 CLL
TAU K2525

AND K2525

044
IAD K2525

52g ,

5:4

HLT

xcntcx FUR BELL
QLA

TAU BLCNT
440

UCA BLCNT
IAU BLCNT
524 CLA
JMP STARTtS

Ian BLCDN

UCA BLCNT

IRING BLLL

TAU BEL
TLS

TSP

JMP .'1
1C?

4MP START+3

BtL; ”207

BLCNTI “Z00

BLUUN: ’20”

$

IAC;5253

/AC=7776 LINxzu
ITEST INSTRUCTION

IAC=2526

IAC=0000 L1NK=1

IANU FAILURE. AC SHOULD BE
l0000, LINK SHOULD BE ONE

71c32525 ngxgm
xrasr ENSTRUCTION

140-9409 LINK 5,1

IAND FAILED, AC SHOULD BE

[0000: LINK SHOUQD BE ONE.
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swmao; TAHLL

utL 435E‘

BchT 4651
BLCON 4552

ELL; 0447

GLLli' @453

UMLTl @457

h «wag

HALT amflb

Kwflflfi @926

Kauai 6&21
magma EMZZ

KwflwS 5964

K99w4 MW2$
Kmfifl? was:

Kflfilfi $924

final? Bus?

KfiflZZ @925

Kama? um7w

5904a 0&26

me67 $666

Kmm77 9&71.
Raina @927

null? 0672

K0209 ease

fins}? EUIS

KM4EB @051

«@717 @E74

Kgmwm WMSB

517/7 9M7:

Kzfiflfi muss

K2525 UMSS

«5717 UMSB

magma @U34

“9252
'

EUSZ
K9717 mw47

KOBME 0M54

«c717 wmabl
K/QUE @U5b

K/3/7 Uw4b

n/amm UMBb

AIS/7 um44

Klbwm ww57

“(6/7 Um4$

n/7wm 0076

K1767 vM42

nx74m anew

K/7b7 Ema;
K/766 @661

fi/767 ”$40

K1716 0062

K/775 @037

K/7I4 0063

K1775 ””36



SYMBOL TAagh

6/776

K1777

NUOP

START

U

EMSS

0951

””07

$144

SBSG

7/17/68 5;14.5 PAGE 8%



SYMBOL TABLh

HAL]
NUOP

nuvwfl

mewl

nmmm2

xmmw4

fiwfllfi

KBHZE

KwQQE

Kmiflfl

szwfl

nuawm

K1996

Revue

Keene

5/7/6

K1775
K/773

K1767

H1757

K1767

K/677

K1577

R1577

R0777

K3717

n37]?

K1717

HDZbZ

34525

K0899

n/uvm
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